NOTES:

I ASSA/4Omrm & 60mm BERTHA ROLL-UP SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR CODE T\ s (AG SCREWS PER NDS. 2005
COMPLIANCE N ACCORDANCE WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE.ASSA/40mm & §0mm BERTHA ROLL-UP ~ o ‘
SHALL NOT BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI-DADE/BROWARD COUNTIES). C.1) MINMUM THREADED PENETRATION OF LAG SCREWS, INTO THE WOOD FRAME UNIT SHALL BE | {2,

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABQVE MENTIONED CODE, NO THREADED PENETRATION INTQ STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION.
FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL £.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE 27

NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 14.
EXISTING

€.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE

‘xSNHA(!JEDgE FT‘%S\FR%%J?EEDA%J VeSS NB'ETIS?C];\IN L\va&”DVWSABSES‘gY'\l h)INL!JN%Pll:OAN%S DETERMNE, FER ohbER 1
ASD. L LTIPLYI 06 |
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
70 COMPARE THESE W/ MAX. (AS.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 14. L O A ETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE
LLOWABL FOR Wi WA IN THEIR S, i , U =1. )
IN A E STRESS ND LOADS S NOL USED HEIR ANALYSIS, HOWEVER, A DURATION FACTOR CD=1.60 WAS USED §. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

FOR VERIFICATION OF FASTENERS IN WQOD.

ASSA/40mm & 60mm BERTHA ROLL—UP'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE 9. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS

WITH SECTION 18608.1.2 OF THE ABOVE MENTIONED CODE AS PER TAS—201, 202 & 203 PROTOCOLS PER FENESTRATION TESTING SHOWN ON SHEETS 5, BA, 58, 8 & 7 OF 14 RESPECTIVELY. :
LAB REPORTS #2749, 2751 & 2760 AND ATL REPORT # 0619.01-02, TABCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, POWER BOLT & CALK=IN ANCHORS TQ BE AS MANUFACTURER BY POWERS
FASTENERS, ING. AND KWIK BOLT TZ EXPANSION ANCHORS TO BE AS MANUFACTURED HILTI, INC.
AL ALUMINU ONS. S LUMIN TION 6063— Lov & T _ VINIGUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AS SHOWN ON
2. ALL NUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIA 63-T6 ALLOY & TEMPER (SEE COMPONENTS SHEET) CORRESPONDING DETALS FOR EACH SHUTTER COMPONENT INSTALLATION IN THIS DRAWING, WHICHEVER IS LARGER (MORE CRITICAL).
3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS| SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN ' MINIMUM EMBEDMENT
50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
2411.3.3.4. ALL TEK SCREWS SHALL BE AS MANUFACTURED BY ITW BUILDEX, INC. ~1/4"3 TAPCON 3 3" 1 3/4" (Min. f'c=3192 psi) 1 1/4" (ASTM C-80)
~1/4"¢ CALK-IN 2 1/2" 3" 7/8" (Min. f'c=3000 psi) -
4 BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS| 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH. ~3/8"0 CALK=IN 3 3/4" 4 172" 1 1/4" (Min. fe=3000 psi) -
-3/8"8 POWER BOLT 3 3/4" 4 1/2" 1 3/4” (Min. f'c=3000 psi) 1 1/4" (ASTM C~90)
5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS. HOWEVER, ~3/8"0 KWIK BOLT T2 6" 4 3/8" 2" (Min. f'c=3000 psi) -
EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE INSTRUCTING THE TENANT OR —1/2"8 KWIK BOLT TZ 9 3/4" 8" 3 1/4" (Min. f'e=3000 psi) -
OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE DURING PERIODS OF HURRICANE WARNING AND
THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE FROTECTION UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED. 10, (T SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTAGHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
5. REMOVAGLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT THEY CAN BE BUILDINGS.
REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED DOWN. THE EFFECT OF THE SLATS
. 11, THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAN IN CONTINUOUS CONTACT WITH
Egéﬁ% DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO THE DEFLECTION CAUSED BY WIND THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.
12. ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.
5 ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):
(A) TO EXISTING POURED CONCRETE: (Min. f'c=3192 psi) 13, ASSA/40mm & 60mm BERTHA ROLL-UP_INSTALLATION SHALL COMPLY WITH SPEGS INDICATED IN THIS DRAWING PLUS ANY BUILDING
AND. ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

~ 1/4°3 TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX.
14, (a) THIS P.ED. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT;

i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

NOTES:
A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 374"
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT. (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT, BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.

A2) MINIMUM EDGE DISTANCE OF TAPCON ANCHORS INTO CONCRETE BLOCK SHALL BE 2 1/2" CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

A3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, (¢) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS .
INDICATED ON NOTES A.1 ABOVE. (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.Q.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D.
(& [y
(B) TO EXISTING CONCRETE ASTM C—90 BLOCK WALL: Es:gggulgt? D%QWFTEEQR%RAC;&% w@ ' DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
~ 1/4"p TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX.
) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
NQTES: , PREPARED 1T.
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4" .
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT. Egﬁgéﬁg@?ﬁ&m\gm%ugggﬁor\tﬁ?%555»3&0 EEFLEOR?SLE%U?L% lQGR(%DDIEY VISIBLE LOCATION AT ASSA/40mm & 60mm BERTHA ROLL-UP
] *"'é L) AT RN .
¢ U ABEIS
5.2) MINIVUM EDGE DISTANCE OF TAPCON ANCHORS INTO CONCRETE BLOCK SHALL BE 2 1/2". %%%gii%%x:w“ﬁf%%ﬂ %;{ALL BE PLACED FOR EVERY OPENING. LABELING TO COMPLY WITH SECTION 1718.8.2 OF THE FLORIDA BUILDING CODE.
SAVIRNEE T R FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
B8.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL $EST u;.‘:;t? . 4
LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. gﬁ N ©2011 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL~-UP DF’ZW/NA?;Y:
(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 w/ G = 0.55 MIN. b - 12/07/11
3 gk % cCo ine. AMERICAN SHUTTER SYSTEMS ASSOC., INC. (ot
2 i > 4268 WESTROADS DRIVE
T o vt Gk, 1, 3188 WEST PALM BEACH L. 33407 11-209
Phone : (305)871~1530 . Fax : (305)871~1531 Phone : (877) 998-2772 . Fox : (561) 209-8380
H H i e—‘mdﬂEZB—L'lgg%%%C;;\\CGm R/Ev, NO PESCRIPTION DATE REY. No DESCRIPTION DATE DRAWING Mo




——— MAXIMUM HEADER SPAN (SEE SCHEDULE)
@ e @ Y T
2 v "\K/ Yor(2) c; — | 3" Min. P (Q/\ \Y/O/’(? { / ;@ RYD
~ P
, oR | = @ or 7] Ccnt
@ ] | /@U g ‘ ! ‘
J\\ ' o - 8] P
7 / . > \ T y;
g 7 ; % i 7
3 7 (A)or (A7) | e — s | Bt a—n 5y —
b 7 7 (Typ.) 2 | — ; ; o
e + + e
g Z 7 . - /
% k=4 - T — =7 = ? T e o ?“"—“@,: S >/
& P — P Ry P P AN P ———— g — 5 g — P ,:
z 7 v C f‘) N g I : %
2 OO E)or === : ; %
% o (Typ.) 21 : 7%
= /; / S — + A o
L S g i z H g
~ - " @Oﬂ’@ ?/, t:f*ﬁ- P L g
= . (Typ. Ea. END} 7 + = e —
v e H : o
o s /( ’ ‘ //
= ~8) O = i : ;
z wd // f/j L‘ + + ",
BB’V Max. SLAT SPAN (SEE SCHEDULE) i { APPL!CABLE
Max. SLAT SPAN (SEE SCHEDULE) ——eer———er] Max. STORM BAR SPACING (SEE SCHEDULE) |

3" Min.

/(@) or @>
P

|

NOTE: SEE SHEET 2 & 3 OF 14 FOR COMPOMENTS NOMENCLATURE.

NQTE: SEE SHEET 2 & 3 OF 14 FOR COMPONENTS NOMENCLATURE.

Max. HEADER SPAN &

Oor Z

©{

MAXIMUM STORM BAR SPAN (SEE SCHEDULE) —

L

@) | Max. MULLION SPAGING [~ Max, MULLION SPACING ——
- b QD@ /2000
! o ; , » . ,
@i, GPPPIIIIP P PIs GIPIIIPI P4 Vi or @\ LU A (L
N h i : | ih 1 il
~ 1 | 3 | ™ | | /DO E
Q/k\l it i /@@OR@ | i} / ifi |
o i i ihi - : thr . - ki : o
b " E Y } : i : =
I il i | . 1] , - i ; R
2 @ | | | ® @ =B~y , == ==k
: () I | | ) — == i
] i ] i - ; “ j : s
2 : | i LR —— | e ) | — i
i : = i ) : e e | 24
~ 1 ih i ; t - [}
= | | | : i : : i — &z
e 10 i il ] } i } t — i i = O
i ' | i | =l B e i | e | o
= I I ! - 1 — — T i &
I} I i o B LK i A )CO H! -T——"S ] i ’ 5 —:————S aQ
3 : I Rl C@E rE) ===t s ¥ 1 w—— : i | =t
[ e R 131 Fo——eg]
= | | R G e e | e e e | = ==re
2 Q e Qe l R 1 b R ] : ..;..__._——————« 1 11 ———— oz
2 = h == /K\(ﬁf\/L\%?‘fdrl ; i il + e S (] 9%
= I H 1§ )&/b' B S — + e W1 1 + : i - w3
g 1 i It P ! i : L ! R 1 ot § =3
T | = i . e | b | I : s it S 2
: il | | R ’ :"‘"‘—‘—““‘(5’> {Typ. Ea, END) @ l ; e ihi = ; i %
i i1 i ~ I - + — e 114 + ~ i =
| |t i I - ; — i f e i -4
T T T T T T=®=®T SR N N T R T RSN t
/
b - Mox. SLAT SPAN (SEE SCHEDULE) Y w-2 l \_‘5 Q
Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE) /- | ‘D F7) WHEN
A b , ~ APPLICABLE

{SEE SCHEDULE)

//

NOTE: SEE SHEET 2 & 3

OF 14 FOR COMPONENTS

g;fii@if’gyy@:{g -
@ﬁa ﬂi L? iy e,
A8 ENSE

&
s IET

gif?

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

NOMENCLATURE.

NOTE: SEE SHEET 2 & 3 OF {4 FOR COMPONENTS NOMENCLATURE. 5 5 B SERTHA ROLL_UP | oran ov
; < 2011 TILTECO, INC. ASSA/40mm 60mm - '
\“(ﬁ) WHEN / L.G./AEF.P.
" APPLICABLE
AMERICAN SHUTTER SYSTEMS ASSOC,, INC.| 1207/
NOTE: -
SEE_SECTIONS ON TILLIT TESTING & ENGINEERING COMPANY 4288 WESTROADS DRIVE
SHEETS 4 THRU 7. 6355 NW, 36th, S, Ste. 305, VIRGINIA GARDENS, Fl. 33166 WEST PALM BEACH, FL. 33407 11-200
Phone : (305)571 ~1530 . Fax : (305)87i~1531 Phone : {877) 999~2772 . Fax : {581) 203-8380
& maréaig;%%??gl «com Fiv. N0 DESCRPTION DATE | REY. Mo DSSCRIPON DATE DRAWING Ne
WALTER A. TILLIT Jr. P.E. : 0D 087157 {12/97/13 5 SHEET 1A OF 14
FLORIDA Lic. # 44167 2 MAX. SHUTTER HEIGHT|Q3/18/49 3




r—— 2.0{()0" A—}

40 mm EXTRUED
ALUMINUM SLAT

80 mm EXTRUDED

2" EXTRUDED STORM BAR’
ALUMINUM  SLAT

6063-T6 ALUMINUM ALLOY

EXTRUDED ALUMINUM
BOTTOM SLAT

TYPE :

3" EXTRUDED STORM BAR

TYPE 3

250" . pe—2.000" 2.000" ——]
— i CAE be2.000" I a—
f@_ } ETG 7‘2 2.000“~~—-JE
o E: é ] |
R2.00 g o :CE g‘ 045" " 250" . 125 . . 250"
R5 250" ) W g2 | 1 g~ e 8 ™) g = g —
T i 7 i 1 1
-] g [
‘H\L.o?g“ el
J T 157 | 340"
585" |~ 557
®IYPE_1_SLAT: . TYPE 2 SLAT: BOTTOM_SLAT: (C) TYPE 1 STORM BAR: -

STORM BAR: (F) TYPE 4 STORM BAR:

X W 6063-T6 ALUMINUM ALLOY X
6063-T6 ALUMINUM ALLOY 6063-T8 ALUMINUM ALLOY 6063~T6 ALUMINUM ALLOY SCALE: 1/2" = 1 SCALE: 12" = 1" 4" EXTRUDED STORM BAR HEA!{?;sEéTESM?N%a AEI)?RM BAR
SCALE: 1/2" = 1 SCALE: 1/2" = 1 SCALE: 1/2" = 1 B0B3-T6 ALUMNUM ALLOY SoALE, e
SCALE: 1/2" = 1" ’
fA 2.000" i 2.000" —i
= 3.000" } 4.000" | 4,000" f 6.000" {
T ]'“
' 3/8"~16x4 1/2" S.8. J i | T
CAP SCREWS W,/NUT
~B 24" 0.0, STARTING {
AT 10" FROM TOP AND
BOTTOM OF STORM BAR. . . ) ” . e
Q 425" 2 128" [=] 250" o 125"
Y 3 rve) ] YR 8 1 () 3 (1YP)
£ N ] o~ od
8 i
¢ =
.250" 250" 4
(YR ey 8
I
J 50635 ALUMINUM ALLOY 6063-T6 ALUMINUM ALLOY 063-T6 ALUMNUM ALLOY 6063-T6 ALUMINJ’JM ALL?Y
SCALE: 1/2" = 1" SCALE: 1/2" = 1* SCALE: 1/2" = 1" SCALE: 1/2" = 1
! =AY ' : 2.207" | 2.297"
4" GEAVY EXTRUDED STORM BAR W I N ”‘—"”3""2 2595 5
B063—T6 ALUMINUM ALLOY S 3007 ] o0 L e
SCALE: 1/2”" = 1" T -*H—--l ;——I ~062 1 I J} [‘-—l 0 I | 1.050 1,143 zu“l?
! ‘ & =T_I i ' r » -l’h z
& 062" o x ) ; :‘E.DSZ“ is 050" 128%] | in
EE—— — R & 3 O S N g e R RR . 2
i w = oW d 1 - Y
- d R — - g - J i _ita A _fl 125
: t'i'x"’ . 1 Z mf:i—_:- | e o mﬁtl ! | 1543 ] g
S8 ] - B g - B |
T = 150" 8§ 450" =
+ TYPE 5
(TYP)

®) IYPE 1

SIDE RAIL: FOR (A)

60863-T6& Alum, ALLOY
SCALE: 1/2" = 1"

IL: FOR (B

SOBJTG Aum, ALLDY
SCALE: 1/27 = 1*

6063 TE ALUMINUM ALLOY

SCALE: 1/2“ 1 gffﬁffﬁ’fé’yy@

8

SIDE_RAIL: FOR (&)

B8083~T6 Alum. ALLOY

.. SCALE:
SCALE: 1/2" = 1"

TYPE 4

6063-T6 Alum. ALLOY

SIDE RAlL:

6063—-T6 Alum. ALLOY
SCALE: 1/2" = 1"

1/2" = 1"

FOR

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

@ 2011 TILTECO, INC.

ASSA/40mm & 60mm BERTHA ROLL~UP

DRAWN BY:

L.G./AC.

g& @ @ " AMERICAN SHUTTER SYSTEMS ASSOC,, INC. ‘zé %’,é 1
<.
4268 WESTRQOADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY
6355 NM. o, St, Ste. 305, VIRGINIA GARDENG, Fl. 35165 WEST PALM BEACH, FL. 33407 11-209
Phone : (305)B71-1830 . Fax : (305)871— 1531 Phone : (877) 899-2772 . Fax : (561) 209-8380
e_mcﬂE:BEggg%g?chom AEV. KO DESCRIFTION DATE REV. No DESCRIFTION DATE DRAWING Ne
WALTER A, TILLIT Jr. P.E. : OLD 08~157  H2/07/1% 3 SHEET 14
T srgsgase8? FLORIDA Lic. # 44167 2 4 2 o




7
" \ {3) 1/4"x1" TEK
Brox1/2" TEK N Ews £ - #10x1/2" TEK
SCREWS @ 4" O.C., SR % BRACKET . ~ SCREWS @ 4” 0.C.
@ \} fll\ (3) 1/4"0x1" TEK @ Efﬁ- ./l ’ /@
" " S X L gl
5 125" 5 250 20 AN T SCREWS Ea. BRACKET P e l_ 1
g (TvP) g ‘ : ! S e v ol
@Galv. STEEL —l @ Galv. STEEL —{|——(%) can. sTEEL
o SIOE ARACKET | C SIDE BRACKET h SIDE BRACKET
Q
<
’ Hi i |
@ Galv. STEEL DRUM s @ Galv. STEEL DRUM 'J @ Galv. STEEL DRUM |
L 12 pe i B
[YPE 1 MULLION; WLLIDH: } ) I ——=23 3
" 4 B
4" EXTRUDED MULLION 2 mgﬂﬁtﬁgﬁu@"ﬂ—oﬁo“j / AN B N N
6063-T6 ALUMINUM ALLOY SCALE: 1/2" = 1 -/ I ﬁ
SCALE: 1/2" = 17 : = /
BALL BEARING ASSEMBLY BALL BEARING ASSEMBLY "BALL BEARING ASSEMBLY |
|
@ SHUTTER COVER | A ® SHUTTER COVER /1 f\ /® SHUTTER COVER
2 CONCRETE ANCHORS SPACED " e -
0 . VERTIGALLY W, 3747 6 EXTRUDED MULLION #10x1/2" TEK— #oxd /2" KT #10x1/2" TEK

EDGE DISTANCE TOP & BOTTOM.— 6063~T6 ALUMINUM ALLOY SCREWS @ 4" 0.C. SCREWS @ 4" 0.C. SCREWS @ 4" 0.C.

SCALE: 1/2" = 1"

@ \

g //‘/7 g 5 s — VARIES A 14
/ : I FASTENERS
(SEE SECTIONS) 1 ; 5.500" i
Galy. STEEL T S - - _—
SIDE BRACKET N Y T
, A FASTENERS __~" 5y
@ Galv., STEEL DRUM H N (SEE SECTIONS) §

g g % -—l ;« 2.950"
r FOR CASES FOR CASES FLEVATION
i W/OUT HEADER ~— W/OUT HEADER —
/ / \ or OAES 7 FOROSES g
, W/ HEADER / @ %
/ #10x1/2" TEK / ,\ F10x1/2" TEK —, ,{\
SCREWS @ 8" 0.0, SCREWS ® 6" 0.C. SCALE: 1/4" = 1"
BEARI
BALL BEARING ASSEMBLY ,/’ % ,/ 1010 ELITE ROLLED STEEL F. E.
< ! P. 0. 1 Z 200 DESIGNATION
@SHUTTER COVER ~ \ ‘*"% 3 . Ftu= 410 NW/MM2. % OF STRETCH
\\ A N OPTIONAL N OPTIONAL MINIMAL ON TEST. BAR OF 80 MM: 24 %
. — STY G~ IZED COATING Thk.: .080”
#10x1/2" TEK— WALL HOUSING =* - 90 GALVAN TING Th
SCREWS © 4" 0.C. - S T ¥ A e TS
SCALE: 3/16" = 1 T SCALE: 3/18" = 1"
by 05-H14 ALUMINUM ALLOY s ' N
BRACKET DETAIL 1 at & 3105-H14 ALUMINUM ALLOY
; R " A P
THICKNESS: .032 Na P THICKNESS: .032"
-} -1.000" /
T_ y — Vl"':.."; \ Q
2 # B o
R2 s
& 9 o ggfﬁﬁé‘fﬂﬁﬁyﬁ’yﬁ
L | W RULT g™,
ShE @1) SHUTTER SIDE COVER *| %
SCALE: 3/16" = 1" ‘ FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
@ DRUM * 3105-H14 ALUMINUM ALLOY
SCALE: 1/4" = 1" THICKNESS: 032" ©2011 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL-UP| OFavh o
1010 ELITE ROLLED STEEL F. E. ) =
P. 0. 1 Z 200 DESIGNATION - - o
Ftu= 410 NW/MM2. % OF STRETCH P SEE NOTE 12 ON SHEET 1 GF 14 LIECcO \ AMERICAN SHUTTER SYSTEMS ASSOC,, INC.}  12/07/11
MINIMAL ON TEST. BAR GF 80 MM: 24 % = a G& - ﬁ?@@.P = 4268 WESTROADS DRIVE
_ ) » ILLIT TESTIN NEERING COMPA}
C~90 GALVANIZED COATING Thk.: .060 6355 NW. 36th. St Ste. 305, VIRGINIA GARDENS, Fl. 33168 WEST PALM BEACH, FL. 33207 11=209
Phone : (305)B71-1530 . Fax : (305)871-1531 Phone : (877) 899-2772 . Fox : (567) 209-8330
‘%‘e ; 2 " g é e_molgsggg%%??gl‘com BZY, HO “DESCRIPION DATE REY, do OESCRIPTION DATE DRAWING No
SEE SHEET 3A FOR ALTERNATE ROLL—UP SHUTTER LIFTING MECHANISMS s8¢ WALTER. A nu.g Jr. PLE. ! o 8-187  w2jor/i 3 SHEET 3 OF 14
FLORIDA Lic. 44187 2 4




RV 45 & RV 45/S
HOUSINGS

o

IS

o

1/%
(V) BOX COMPONENTS AND ASSEMBLY DETAIL
END CAP SYSTEM

SEE SHEET 3 FOR ALTERNATE ROLL—UP SHUTTER LIFTING MECHANISMS
(SEE NOTE 12 ON SHEET 1 OF 14)

45" CHAMFER !

AS APPLICABLE

diﬁé’ﬂlﬂ”ﬁﬂfl’
3 ‘ez,

ny

e ™
5
I
. 518
L9
& Sl
N K
STUB DETAIL 3 ¢
(N. T. S.)
\ -

SIDE CAPS:

| 45" CHAMFER
AS APPLICABLE

COMPONENTS FOR _GEAR_OPERATED SYSTEM

1)~ GEAR
(2)— UNIVERSAL & CRANK
(3) ~ CRANK HOLDER(OPTIONAL)
(4) ~ GEAR INSERT(GEAR TO AXLE CONNECTOR)
(5)~ IDLER INSERT
6)— BALL BEARING
(7)~ OCTAGONAL AXLE *
B)~ ENTRY GUIDES
©)— SIDE/END CAP *
{0) — HOUSING(FRONT & BOTTOM), 0.040" THICK
{1 - SIDE RAIL
(2 — PLUG-BUTTOMS
{3 — ALUMINUM SLATS
{4 — BASE SLAT
{5 ~ PLASTIC STOPS(OPTIONAL)
{® —~ SIDE LOCKS(OPTIONAL)
{7) ~ STAPLES(OPTIONAL)
(8§ — SPRINGLOCK HANGER
{9 —~ SAFETY PLATES
ADDITIONAL_COMPONENTS FOR
MOTORIZED OPERATED SYSTEM

— TUBULAR MOTOR
% ~ MOTOR BRACKET

@2 — SWITCH

FASTENERS

@3 ~ 3/16" ALUMINUM POP RIVETS(6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

% SHALL BE CAPABLE TO SUSTAIN SLAT'S
WEIGHT AND ASSURE LIFTING MECHANISM

(SEE NOTE 12/1)

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©?2011 TITECO, INC. ASSA/40mm & 60mm BERTHA ROLL-UP ngwz 2*’
{ : 5& E C @ 184 \ AMERICAN SHUTTER SYSTEMS ASSOC,, INC. ‘2{)%:/”
idc. £
TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRIVE
5355 NW. 36th, St Ste. 305, VIRGINIA GARDENS, Fl. 33166 WEST PALM BEACH, FL. 33407 11-209
Fhone : (305)871-1530 . Fax 1 (308)871-1531 Prone : (877) 999-2772 . Fax : (861) 209-8380
a—mail: tilteco@aol.com — - prerewe—— Py DRAWING Nao
WALTER A, TILUIT Jr. P.E. ! - 1
FLORIDA Lic. # 44187 y n SHEET 3A OF 14




POURED

CONCRETE OR ™ . TAPCON _— - s
POURED CONC}RETE OR CONCRETE BLUCK *\/ w i :\NCPOSRE::HED LE\ ://
ey RS ) e R T \ "7 —® © /gg
(SEE SCHEDULE \ ) (SEE SCHEDULE ON | /7] i ey // S
ON THIS SHEET) Q_l‘%ﬁ D-M{?/j THIS SHEET) — £Q // ’—TrE/};t géégvs /// //"/// S /////// op@
] 7 ™ il @ 6" o f : ’ %3 /4"
7 =] | | R e
/// % /// / ///// EQ - //’ £ L . ) ~1 );3 'x1 /8", 2"x3 21/5 . o.c. ® 8" oc. \‘\
///i L e @OR @ | i/ ! @ OR Mex. )%/%4 5@%’;@5 L oot e \\41 / %
£QmlmfQ :‘ s jant e =
- 7 .- ‘ — J 4 =} @ 3 @)  @ee@ || & # @)
/;"‘: = ' : T ] YT 152 {l__/“ ’V“‘t_ T 15a)
;*4{; L' UD@O@O}?@) / // ) ! 1/+q s : ? QemfeEQ Qs -£Q EQ-omperE Qo]
4 / Max. e e (2.5 e o ——
SECTION P = P (1) ¢ WALL MOUAT D000-0  leeoe-0 L Ee0ws® e | i
SCALE: 1/2" = 1* SECTION P = P (2) : SIDE WALL MOUNT ", Vort =
o (2 ¢ SECTION P = P (3) : BUILD-OUT MOUNT D}’W" " OR W2 0000 ’Dj} Wot OR Wz
' SCALE: 1/2" = 17
- 0 e - OR MOUNT
SIDE RAIL ANCHOR SCHEDULE MAXIMUM A.S.D. SECHON 9 - 0 ; ot ool =TORLE - Rt Rbkce o)
DESIGN PRESSURE RATING (p.s.f.)AND A ’ S /2=
CORRESPONDING MAXIMUM ANCHOR SPACI ING(in) * 272 1 cont 2 x 2" x 178" Cont
- FORSIDE RAILS K, KD, & ®) CONNECTION TO : ) 4 ’
POURED CONCRETE Oﬁ CONCRETE BLOCK WALL e e EL e Ssitons
 (USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) @ 8" oc. W\VW ﬂ‘ 8 & o
12 SO IS
- P . ,
| NN SIDE RAIL (K) SIDE RAIL K1) SIDE RAIL (L) SIDE RAIL (M) @OR? ;% T 2 @I)m@
PRESSURE = : 5
RATING (p.s.f.) fwal mount | INSDE BloUndY WAL nounT | INSIDE BULDIOUT AL wount | INSIDE BULDSGUT | wall wount | INSIDE. BT 5 J £omloFQ Emtljmjﬁ = 2.
6" 31/2" 6" 8" 3 ‘1/2" 8" 8" 4" 6" 6" 4" 6"
80 OR LESS

8 J 6:4 61: 6!1 E:.Su 6n 61: 6--

? \
g" 61: 6» 5" ) 1/4" 1/4"_~l . N
Qe " “- @@
3" po 5" 3” — 51. 419 3n 6“ 41) 3" 6” OR
o ’ | 0ee ® olois
6" 5 1/2" 8" 6" 5 1/2" 5" 8" 6" Y 6" 6 6

3 - 41/2" 3" - 41/2" 31/2" - 5 1/2° 3 1/2" - 5 1/2" SECTION R — R : MULLION MOUNT (INSIDE MOUNT)
>150 TO 195 : - - SoAE: 12" = 1T
6” 5" 6" sll 5" 6” 615 611 6" 6 6 6
SIDE RAIL ANCHOR SCHEDULE MAXIMUM A.S.D. N NG (in) AT SIDE
DESIGN PRESSURE RATING (p. s.f.) AND concrere oo | LR IGHOR SPAGINO (in) ATSI
CORRESPONDING MAXIMUM ANCHOR SPACING(in) * RAILS VERSUS B2 D.
FOR SIDE RAIL (MDD CONNECTION TO POURED POURED CONCRETE MAXIMUM SIOE RALS ANCHOR SPACINGS
CONCRETE OR CONCRETE BLOCK WALL e ey | o O T S
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) SRS e
MAX'MUM TN ﬂégﬁiﬁagﬂgfyﬁy .
AS.D. DESIGN SIDE RAIL M1) T »ﬁ A 5?’5;;’%@
PRESSURE 8 %@y aaaaaaaaaaaaaaa s . v Hurr Zone)
RATING (p.s.f.) & OENG S P FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone
WALL MOUNT e B ey §” . AAdE K 3 ©2011 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL-UP) B 2%
8" 8" 8" N FEEL § i S
80.0 OR LESS A 3 AMERICAN SHUTTER SYSTEMS ASSOC., INC.|  12/07/11
6" 8" 6" L“ 7%2 N Z . E& E €O iReC. \ 268 WESTROADS DRIVE -
i TS N G & ENGINEERING CQMF‘ANY por 208 W : ‘
¢ J & - LLORIOR. S g mme e L) verPAvoon d e 11-209
>8O'0 TO 100.0 e-mail: tilteco@aal.com AEV, KO DESCRIPTIOH DATE REV. Re OSSCRIPTION BATE DRAWING Ho
6 ) ° s, WATER A HLLT 3r. Pt ! el L7101 SHEET ¢ OF 14
jff’!ffﬁ’if i FLORIDA Lic. # 44167 B P




. frome] 5} 11720 1/2"%1/8%
; T1/2%1 172" /8 FOR INSTALLATION INTO CONCRETE, R s cw
17478 % 1 3/47 TAPCON A 1/48 x 1 3/4" TAPCON \)OR’ <> 34" 3/+  x STORM BAR DEPTH USE (1) 1/4" TAPCON ANCHOR AT 250, 750 o )33 /8; o Bé\ﬁfl}z /
POURED CONCRETE W/ ANCHORS @ 12 Q.C. // ’/,—\NC‘—‘ORS @ 12" 0.C. Alum. ANGLE EA. SIDE CENTER GOF ANGLE EACH SIDE FOR ANY O ANCHOF AT EACH SIDE.
5" Min, THICKNESS REQ'D ~. Py == 7 o CONDITION UNDER A.S.D. DESIGN
<‘C”3°°° pei Min.) S o i N PRESSURE RATING OF 4Cpsf & FOR
/ / Ayl e / / iy oyl Vi A i | CONDITIONS W/ AS.D. DESIGN PRESSURE
e / e 4 AW POURED CONCRETE W/ - N > | RATING BETWEEN 40psf TO 80psf SEE
s YA // i S 4" Min, THICKNESS REQ'D™ N ‘ ———(] P 7] TABLE 1 & USE (1) 3/8"9 KWIK BOLT
: = (f'e=3000 psi Min) | ! ) TZ ANCHOR AT CENTER OF ANGLE EACH @ O
| ! | 0 SIDE FOR GREATER AS.D. DESIGN
i o | i \ ~ PRESSURE RATING AND SPAN CONDITIONS. E :
‘: j = J ! ! FOR INSTALLATION INTO HEADERS USE (2) | 5
‘ | Aor @ : e OB 4 ] 1/4"0x3/4" TEK SCREWS EACH SIDE. ]
li T T | i ;:7‘ . .
it ‘ ! ‘ | (2) 1/4"0x3/4" TEK y p i e
i i : \\ " LSS S P ! L@) or SCREW AT EACH SIDE, Y r d / 4
) S/ - i A
| ‘ ! , / // S // | /Lo osEs ) EDGE [ . .
! ! ; ‘ e £ W/0UT HEA SECTION S - 8 (FOR FIXED STORM BAR) OF WALL bE %%)R !—:1 \A{‘:?xg{& S%E‘
I ! ! /A l“"l"" oy \_.._ TIONAL SCALE @ N.T.S.
! ! i g h A POl SECTION 82 - 82
| Pl
FOR CASES 15
i - : N W/’?JUT HEAOER | 28 Y. FOR INSTALLATION INTO CONGRETE, SCALE N.T.S
" == i N I T PASTENERS IRt é{gﬂ,‘; 51,_\/R2 ngsﬂ USE (1) 1/4"9x7/8" CALK~IN * .
M ! OPTIONAL I ; ony @ 7 T A e Exabe /] ANCHOR AT CENTER OF ANGLE EACH SIDE | .
I ; r I i ALULLEES FOR AMY CONDITION UNDER A.S.0. DESIGN L e MACHINE SCF?EWD
! ! | FASTENER p o | @ { . PRESSURE RATING OF 40psf & FOR FULLY EMBEDDE
i | e o el . | ¥ CONDITIONS W/ A.S.D. DESICH PRESSURE NTO ANCHO
| iy ' RATING BETWEEN 40psf TO BOps v
H el ‘ 9 "
u H | ! ~(6) () O i | ) , O TABLE 1 & USE (1) 3/8%x1 174 L ANCHOR
= I f il i ! CALK—-IN * ANCHOR AT CENTER OF;:S,;\(I;JI\(]BLE T
= /“ j - g x s i:] EACH SIDE FOR GREATER A.S.D. D
Z Gaes” | : @ or @ f f ! i oR @ o) PRESSURE RATING AND SPAN CONDITIONS. DETAIL A
g ! ! i1 il - I ‘ i | r*j FOR INSTALLATIONS INTG HEADERS USE SOALE TG
ER i | | ’ EXISTING ——rd] } il Y ~ (2) 1/4"8x3/4" TEK SCREW EACH SIDE. S : N.TS,
{'- I . - 4 " L ~
! / T GLASS i | s 1 % 1/4" 920 OR_3/8" 9-16 MACHINE SCREWS USED JOINTLY
EL"L r? :NMT 1 J‘*\»L;;\b_; : I I A 1 N\ 920 S W/ 1/4" @ x 7/8" OR 3/8" @ x 1 1/4" CALK~IN ANCHORS
a? I ! i\ i :{_@)0/? @ f ! I (2) 1/478-20 S.S, M.S, RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
Eg f ! 1k l | ! | W/ 7/8"0x3/32" WING NUT TIME STORM BARS ARE REMOVED. (SEE DET. A).
It i | I | F
ed l i | : L sEPARATION TO olass 1| 7 TABLE1
£8 i ’ | | t*" R e SECTION S - S (FOR REMOVABLE STORM BAR) TR L MAY.
@, i ! H, | SHEET 9 OF 14 il DESION MAX. SLAT STORM. BAR
gy I sepARATION TO glass 1) I ” ’; e SCALE @ N.T.S. PRESSURE SPAN
@ - SEE SCHEDULE ON ~MH{ Yt u X . ) i . RATING (p.s.f) HEIGHT
g5 y  SHEET s o na | B ! oR @ @ @ POURED CONCRETE W/ |—t"—f—"— et et "y e
0 I | e R 4" Min, THICKNESS —— L - =0’
& I | e ) m (BEYOND) (f'e=3000 psi Min.) 40.0 4=0
2o i . /\/ 1IN ‘ 7@ @ I ! OR CONCRETE BLOCK )
e EQ'D, ’ s , : -
% \} \ REQD /// /// ’ - d 34 0,,
: @ OOR @ I ‘""“*3@ R @ - 50.0 4 -0
E j | g | i ence oF—/ = ke 50"
i : } / (BEYOND) I WALL X T
| | ! | f M“’@ or ‘@ 24" (Max.)x1 /4" (Min.)x0'~4 1/2" T 60.0 70"
! ' ' ' ] i ALUMINUM ‘ANOLE AT EA. SIDE W/ g ) 1783/ G
f : : JF‘\—L 1l (2) 3/8"9 KWK BOLT TZ ANCHORS TEK SCREW T
N ! | | 1*’\® Oﬁ l w""‘{@ @ TO PQURED CONCRETE OR CEe EACH SIDE T
i ! H AT ! I {2) 3/8" POWER BOLT ANCHORS & 70.0 =9
I ! | : ; }: QD @ @ TO CONCRETE BLOCK b )
il """--.L OR i ey
I : : " TM::.M\/CW @ ] BEYOND) 4’) 80.0 i'mg,,
i ) OR YON C) .
i 1.000" : )l : gl ‘wk"'/ // g é ( S, I C OR e
e -000°_ e Sl A 7
I M il : / // ¥ P s SECTION S1 - St CONGENTRATION OF Q%i L S
|i | | | | e N @ T \,«T\ SCALE-: N, T. &, @ oR @ (2 3/8 3 KWIK BOLT Me fw & %
i o IRV T _j '\ o ) | 10 POURED CONCRETY! GR. % ﬁz Y
i s | s! Is s POURED CONCRETE W/ ! \ £ LM-———?*’C og. 1 1/2%1 1/2%%01 /8" {(4) 5./8 2 POWER BYLT 4”«?2!% ~
i N & Min, THICKNESS REQ'D | 1 | i ALUM. ANGLE EACH SIDE AS TOORQNgRgTEOEﬁF% Q0 s /
Pooeg - (f'e=3000 psi Min.) | | ! T SHOWN ON SECTION S-S . STORM BAR LOCATIGN p %Q UL
! b ! ! I i\ i 1/4"ax1 3/4 TAPGEN @ 32 S
“L‘g[: 2 o @ ko)l A Min 0 =4 172" 8 | A ! Is ! @ORC : T ¥ ] = :
<] % ax.)x in.)x s /- ! | ! . > e .
e L L ALUMINUM ANGLE AT EA. SIDE W/ 3 | 7 // A U (e } 5 = Q a @;{ ‘ F2 s, STAR:
/, T ey > (2) 3/8" KWK CBGLT TZ ANCHORS | | LA |¢\ ! ! r ﬁ:; 4 g
s / 10 PQURED CONCRETE OR [ | P B . ‘ ) - - . i
>4 /J Y e s Z / / / ,/ (@) 38 POUER BOUT MNCHORS |7 Al | ? 1\ ricliiiet: B % " o o | @ 1 e " " 4] 1 @f% N vn,%ﬁ g
’ g . raay P {4 Min. < ,,/ . / e S8 e, "
POURED CONCRETE W/ FOR 174" TAPCON ANCHORS 3.000" M‘"/ < Gha e/t meserms 10 18 2 A okl [ THICKNESS REQ'D ‘ / ELEVATJONA(\ ?:o’?i‘r"‘f{iﬁi.’”ﬁémz Wi ”i’&% !
5" Min, THICKNESS REQ'D ~ OR 1/40 CALK—IN ANGHORS / g . l,; v S0 (”’ 3000 psi pin.) S\_q 4"(Max.)x1 /4" SCALE : N. T. S. Sttty gpa8997
T I Mi " " PN ; N 7 27%4 (Mo )x
wezaomn i in] FOR 3/870 GALK-IN ANCHORS #300" WA ¢ " POURED CONCRETE w/ <Xl CONT. ALUM. ANGLE FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
. - 4 TR e & a POURED CONCRETE W/ SUSA - 4}' Min, THICKNESS M.“/ ) -
FOR 3/8"8 KWK BOLT TZ ANGHORS 4.325" Mine OUR 3 Ay i e
4" Min. THICKNESS S '¢=3000 psi Min) 7 7 7% - 0 OLL~UP DRAWN BY:
(Fe=3000 psi Min.) O BoNeRETE BLOCK 7 ©2011 TILTECO, INC, ASSA/40mm & 60mm BERTHA ROLL L.G./AG.
\ R ¥
CEILING & FLOOR MOUNTING: SECTION V-V (2) gERQ%ONC"ETE BLOGK REQ'D. OPTIONAL STORM
- : g : - = . - SYSTEMS ASSOC.. INC 12/07/11
INSTALLATION W/ FIXED OR REMOVABLE STORM WALL MOUNTING INSTALLATION: SECTION V-V (1) AR CONNECTION LIEC® 1. AMERICAN SHUTTER SYSTEMS ASSOC,, INC.|  1/07/
SRS VICONCRETE ANCHORS W/ FIXED STORM BARS W/ICONCRETE ANCHORS NG & & ConEY 4268 WESTROADS DRIVE
- - ENGINEERIN R ¥
{ SEZ SECTION °S° FOR ANCHOR TYPE REQUIREMENT) ! A \ (LT TESTING & ENGINEERING COMPANY WEST PALM BoACH, FL. 33407 1209
SCALE : NS, SCALE : NT.S. Phone : (305871~ 1530 . Fax : (305)871-1831 Phone : (877) 899-2772 . Fax : (861) 209-8380 DRAWING No
> e—mail: tilteco@aol.com o " ¥ G
SINGLE SPAN SECTIONS AND DETAILS SECTION V-V £B—0006719 &8y, fig peonemon | oae RE‘:“ Sgscarnion SATE
ARE SIMILAR TO ABOVE SHOWN WITHCUT WALTER A, TILLIT Jr. BE. 1 oLD 038~157 12/07,/1 SHEET 5 OF 14
STORM BAR & HEADERS. FLORIDA Lic. 4 44157 3 s




TION INTO CONCRETE, m L F 1T1/8"% 17271 /8"
Por(y Y e R hemunos o conrere ©ox (B gy iz
1/4% » 1 374" Tapten AV OR( Y x SVC‘W BAR DE@Eg éfméﬁ OF ANGLE EACH SIDE FOR ANY it 1/2" 1) 3/8' KWIK BOLT T2
/4% x 1 3/47 TAPCO JINCHORS @ 12" 0., Alum. ANGLE E2. 31 CONDITION UNDER ASD. DESIGN F’Rsﬁbfll/)RE . 3/443/ 4 ANCHOR AT EACH SIDE.
- ’ i e S — . " 5 F TIONS ¥
B D e s erors @\12 o 4 v e N LT oD, DESION PRESSURE AMTING BETWERN |
5" Min, THICKNESS ! s | : i ASD. ] R et
' i Mi . 80psf SEE TABIE 2 & U
(f'e=3000 psi Min.) \ ;D w Y T 40psf TO 80ps R AT CENTER
L RN S S Yo /& POURED CONGRETE 1/~ P N G o I 3/8% KK BOLT 12 ANCHOR AT SENTER
ya / S y // |7 // s / S e / " g 4" Min. THICKNESS REQ - . | 'I— oF A‘NGLE EASCSRE DE FOR CREATER
/,/ o // S S L !”{ s (f'e=3000 psi Min.) i ggﬁ]gmoﬁ\?;ﬁm‘? INSTALLATON INTO )
Lﬂ"‘l g% I I | HEADERS USE (2) 1/4"2x3/4" TEK SCREWS oSS
wf——"* -0 O ! | =J———~ s EACH SIDE, SV S
e S LAY OR@ ! pS (2) 1/4"0x3/4" TEK : - e [
. i o FLrm —~ g
I i . ~ l [ » 2) 1 SioE. Wa (2) 1/4%x3/4" TEK
—— ! \ ’ J SCREW AT EACH £0GE Q) @ A
\!: st | / : | ,/, s ////4; | L@O}? @ OF WAL~ :.‘E SCREWS AT FACH SIDE.
i [ I S S 7l FoRr casES .
| R | Vs ISP X WOT R SECTION S - S (FOR FIXED STORM BAR) SECTION $2 - 82
! ‘ ! : T B \-—«opmNAL SCALE : N.T.S. SCALE : N.T.S.
i} i y 8& )
| 7 ‘ : CONCRETE,
H ! \: Z /" FOR CASES i adl | 11/2"%1 1/2°x1 /8" Eglé giwﬁgﬁ?’/ Q\II'T%ALK“'N EACH SIDE 9 T
i ‘ ! N ] wrour HERDER A FASTENERS x STORM BAR DEPTH FOR e ot Eon. OHOAGLE, EACH, SIDE e TTMACHINE SCREW
i 1000"___|! ! = I 1 ONLY @ Alum. ANGLE EA. SIDE FOR ANY CONDITION QR ASD L y - o | FOLLY EMBEDDED
'f“‘ T oM ! ! OFTICNAL ! ! [-3/4" ‘ra/ap T PRESSURE RATING OF 40psf & FSSURE o : <L INTO ANCHOR
‘ | ” : G)(H @ ! CONDITIONS W/ A.S.D. QESIGN PR = = \
‘ ' FASTENE] I 000" | 5 RATING BETWEEN 40psf TO 80psf @ ' ’ ™~ ANCHOR
H | ! ONLY @ 1.0 | ~ " ‘g J 8 E— TABLE 2 & USE (2) 3/8"ax1 1/4 . 4 .
I I \ f Min. ' OR <j7 el =1 = ANCHOR AT CENTER OF ANGLE B 4
i : ' i ' ' =i EAGH 'TDE FOR GREATER AS D, DESION
H |} ! @) @ I f PRESSURE RATING AND SPANOggg?DJE%N?é) DETAIL A
£ f : J TALLATIONS INTO HEADER s
£ mae) { I @ or i Ef ' Oﬁ@ L ) fsmﬁ/af TEK SCREW EACH SIDE. SCALE : N.T.8 :
g, oS3 ! | = i S i ' ’ 4T~ r "o 8" 9~15 MACHINE SCREWS USED JOINTLY N
Se I | | B i i | x N ® 1/4" 4-20 OR 3/ w T 1/8" CALK-IN ANCHORS
E- i » \ }l‘ ‘ EXISTING e | g Wy e 8 x 78T OR 3787 GETHER W/ ANCHORS AT THE
g’ﬁ i\ | A [  BLASS Il | i —=(2) 1/4"8-20 S.S. .5, RESPECTIVELY SFLALLPEEREEAZ[’VQSG(SEIE DEF. A,
B- 1 A= ‘L‘\# I | (A7 W/ 7/8"9x3/32" WING NUT TIME STORM BARS AR :
2 i TG0 g* | s o8 (Do (@) TABLE 2
v - | |
g i | | | | | -
=2 ! 7 L™ MAX.
o it | el | ! ' TR AaD: .
¥ 1l ] s | SEPARATION TO GLASS | SECTIONS-S (F‘OR REMOVARBLE STORIM BAR) DESIEN MAX. SLAT STORM BAR
2u il | t 1 ! !L--—— SEE SCHEDULE ON PRESSURE SPAN N
e I ] | | Jf :; SHEET 9 OF['” 1‘"""""‘@ @ SCALE @ N.T.S. RATING (o.5.t) L
- I ! iaN! | ) e LRATING (o8, =i -
& i | ) e} P o] Mo q il
o | SEPARATION To otss ([} ) ' i - POURED CONCRETE W/ - . s
£ - Ser SCUEDULE 0N ; M“M—@ oﬁ@ ‘ @C‘m 4" Min, THICKNESS H 40.0 = 12’57
el I "SHEET 8 oF 14 | @I i "M e Eg
%= A | {f'¢=3000 pai Min. gy Eay
53 I | | e . ' (BEYOND) OR CONCRETE BLOCK 1 . 30 13~
g& i ! il [ I ! REQ'D VAl " A g 725"
;; AL 0 @ e I . ‘ , 50.0 i 125
[ I Min. - N ot e T
= 0 M i | \:@ or (@ & OF =/ = i 20 12 -9
OR EDG ,
z [ T & :f ! WALL . 60.0 AL 11 ~6"
< f | W | YOND) i ! w "M )x0'—8" S vy 9'-2
E ! s (BE f | 2"%5"(Max.)x1 /4" (Min.)x0'~6 o 5
” | i 4|/ | f 52 ) o LUMNUM ANGLE AT EA. SIDE W/ T K TG 12 3"
i ! IR } | ! () 38 Kolic BT T2 ANGHORG \__(4), 1/478x3/4" pRpo g0
i : M N i i ! TO POURED CONCRETE OR TEK SCREW 70.0 - i
I ’ e TL\\“L I L_/—J»—”@ (2) 3/8"% POWER BOLT ANCHORS EACH SIDE 5 ~0'r rys LN
I i i al ]! '\\'® Of? I : TO CONCRETE BLOCK T sl 30 11 ~@!;g§ Lﬁ; iiy‘%“%
| gt ! | QW) 7 o [rmo I gmiaih T HPs
1l I ! | o = T X ,,@ a.,% /, =,
Pl ! | £ oa@ % 2 R T Y
I ’ [ OND 3 . .
I | j i M\M E OR ! % (BEY ) ———————————— ~ . 81 COMCENTRATION OE ijg’.‘ PSR
il | el 1l Ve 7 } - SECT'ON 81 e J/ﬁ"m KWIK %O TZQAN ORS< %
i | i | Yy ; / / %1 - E o F <3) i GR ﬂvw%mww&r%&
I ! e | v e ~ - SCALE : N. T. S, T0 POURED CONERE 5@ el
! 1.000 i A5 i // ey 3 ‘j,/ \: B) o e (5) 3/8 POWER BOLT Ar}!%$ i ?fﬂ E2.
; Min. | nr ! : yay g S ’ \\ & g 1 1/2%] 172" /8" TO CONCRETE HEOCK @ 4" b, AT@% e &S
! ' ihY'm 1K} < v R Oﬁ ALUM. ANGLE EACH SIDE AS STORM BAR LOGATION AND REST o Gec's
I & ; _ﬂ P s S POURED CONCRETE W/ - ! b ® b/ ‘f SHOWN ON SECTION §-5 1 /401 3/4 T&p ® 12 %‘*’gﬁ% 0 éﬁ‘u g
i s 1 5) . ‘ 4" Min. THICKNESS REQ'D : Iy w . — 7 =3 = B g
H Q}[,_ (f'e=3000 psi Min.) I/ ‘ E) OR @1 | /7 fZ.‘s @%ﬁ% B Q}% )
I wt B os)ul /4 MnJ06" ' / 5 ! - © ? ? ‘x, N
i 0 ALUMINUM ANGLE AT EA. / | | . . 83 LAt
| 3% @ 3/8"0 KWK B%TTETZ ANCHORS }—l ] p / " PUON G S 12“ d;ij% ?‘kﬁ I
ez RED CONC i 19" 1 4 : ; g s
> - s FOR AL LOADS COMBINATION OR I\ pouseD @ t 2" (Max.)x1 /4 “risid
// / / / ,// / (2) 3/8" POWER BOLIIO'Q\N/?@O{?S I\ CON!;RETE w/ // \-. ELEVATION CONT. ALUM. ‘ANGLE
4 TO CONCRETE BLOCK F S.D. I\ 4" Min : y : .
/ /J . Mm/ /| DESIGN PRES(S;;R?/T;H%(‘;/ ﬁprgg ® ; \ {fmécg»é%%spr:'roM%) ; \\(\‘__ et/ SCALE : N. T. § High Velocity Hurricane Zone)
"% TAPCON ANCHORS 130pst AND % 2 = . P 28 (Max. )x , ; - - s
W, TACNESS Rl Z%Rii/ﬂgmm It ANCHORS / yd SCREWS 10 STORI B4 f IPOURED CONCRETE W/ 7 7 CONT- ALUM. ANGLE  FLORIDA BUILDING CODE (Non Hig e
5" Min. THICKN L mant = Lo / P ~Up DRAV :
'e=3000 psi Min. /8"8 CALK—IN ANCHORS +.500 n- —‘—_—_’L\ v 1/2" 4" Min. THICKNESS'—W / S B & B BEPTHA ROLL, Lo A
(Fem3000 pei Min) FOR 3 , s s 325" Wi Pouren concrers w/ L | 7 (fom3000 psiwin) oL W - © 2011 TLTECO, INC. ASSA/40mm & 60mm BER !
FOR 3/8%% KWIK BOLT T2 ANCHO ‘ ' 4" Min. THICKNESS > A 7" OR CONCRETE BLOCK ” =
SR ConcREE Btk R OPTIONAL STORM AMERICAN SHUTTER SYSTEMS ASSOC., INC,| 12/
S DG & FLOOR MOUNTING: SECTION V-V (2) REQD ONNECTION HLIEC O ne. s oRve
OVABLE STORM TALLATION: SLC TION V-V (1) BARC » g 4268 WESTROADS DR
INSTALLATION W/ FIXEDR OR REM WALL MOUNTING INS 3 TILLIT TESTING & ENGINEERING COMPANY WEST FALM BEACH FL,(52§)4%9 ssm0 —209
ol 3 \ ENS, Fl. 33 . 7 -3 . Fax @ - .
BARS WICONCRETE ANCHORS W/ FIXED STORM BARS W/CONCRETE ANCHOR o5 Y e s 5 Ve S T TR T ] e
3 J il : ~mail: tilteco@aol.com —~ DESTRIFTION QATE . No
{ SEE SECTION "S* FOR ANCHOR TVPE REQUIREMENT) SCALE © N.TS. e ma,EB:msm gw’ o comoe [ o [ J——
SCALE : N.T.S. WALTER A. TILLT Jr. PLE.
] SECTIONS AND DETAILS 2= T AooAS
FRE SR TO ABOVE Soun Ut SECTIONV -V

STORM BAR & HEADERS,

FLORIDA Lic. #

44167

i

4




f /2 12 /8 —
Tk NCRETE, USE s M. ANGLE w/ 7
FOR INSTALLATION INTG CO . O'=4" ALUM. Ny
2’ % 2" x 1/8" STORM_ T{2) 1/4"8 TAPCON ANCHORS EA. SO e (1) 3/8% kWK BOLT T2,
8 TH Alum. ANGLE /7 2) TIONS UNDER A.S.D. NCHOR AT EACH SIDE.
Wer(y a2 BAR DEP / FOR ANY CONE OF 40 psf & FOR A /
T s 5 3w mecon TV )GR aye EACH SIDE /' PRESSURE SN PRESSURE BATING BETWEEN
Scon Ve /,/ /AN@-QRS & 12" oL, / — ‘ Fe3/4 TSM - ﬁosgc Spéi:;)(il': USE CONDITIONS SHS?)TT Org 1/2 1 /
/4% x 1 3/4,.‘. TA.A ) . T T T T T T T T T T N fi i i E 4 & USE (2) 3/8" KWK —1 T__ Vi ,/
B e W\ peHORS 8,17 0% == = S o i 3 A AN ASS 1 e Bt —
(rstics 7 T b oo PRES§8§E|NRSATTEEAT®N AT HEADERS 40 S Y —
(Foo3000 pai Min) N\, POURED CONCRETE W/ —._ // - o - USE_(2) 3/8'9-15 55, WAGHNE SCRERS e
S . 4" Min. THICKNESS REQ'D " / K : JEEme) SIOE ! g
’ S s / (f'e=3000 psi Min.) 7 / ! L 1 i ] ._‘% AT EACH SIDE. P /b L g s )
e Ve e { H il | a0l o
s ya e i . —u——-@ ‘g I S e Yy I E [ B S P
I el =4 - g : o -
T s [Nt . (2) 3/8" S5 : { T 2) 3/8" S.5. THRU
, - S e T £0GE . —( o
| & 1€ |1 THRU BOLTS W/ NU OF WALL— NE BOLTS W/ NUT
i gt P R) N
il 77 o MBA’ - ..‘52
f - ;s y T CASES SECTION S - S (FOR FIXED STOR SECTION Sr% S
! s S // yavd o 4L [ W/OUT HEA e SCALE : NT.S. FOR INSTALLATION INTO CQNSR[I-:'IE SCALE ¢ N.IL8.
il g - p y i i d I V. " " CALK~
- : | / 2) 1/4" % 7/8 .
f | » " " STORM / USE ( ANY CONDITIONS
! o 5 2" x 2" x 1/8" § / ORS EA. SIDE FOR ANY CO s
f ‘ (- itz FASTENER P — BAR DEPTH Alurn. ANGLE R s DO e Do .
i ! 1 ONLY @ (Y " EACH SIDE —- / g?”w psf. & FOR AS.D. DESIGN o |
! | FOR CASES ! @ 3 | - PRESSURE RATNG BETVEEN 40 & 8 ' -
i | W/0UT HEADER i ‘ ‘ L@ / psf USE CONDITIO(NS) g%\‘sg O = ]
Il | Y ik . . s 4 & USE (7 R ! ) ‘
| ok ! C Mo O or (7 P _@ é[ ........ A %@ DO s ST AN A o)
" ’ i RN\ ; ESIGN PRESSURE :
! ! | ASTENERS ! , Il £ ASD. D R INSTALLATIONS \
I i — . FASTEMERS i L 9 T AP EXISTING AN CONDITIONS. FO , 7 R
! o S A e |\ e beoerr 2 a7 0T CeF (2] 3/85- 12 55 FULLY ENBEDDED  DETAILA  ANCHO
e ! I i i ™ HREAD! ! Aol Fpom - T | WS ol gt s
“ ; ! = E’ ™ i ' \ [\\\ ! m\c{uNE SCREW AN | 1 @ MACHINE SCR INTO ANCHOR SCALE @ N.TS. ‘
i ) | O \—(J It ! | S (TYF) T \ = - CHINE SCREWS USED JOINTLY |
w i | | o (3 " () Sz | iTe1l fk\-\ * 1/4" 5-30 OR 3/8 ‘”";%'A{, X 1 1/4" CALK~IN ANCHORS |
! ! OR \x Ui g 1 : "y s, 4 . " oR /
; g | i | i % | i 5 ; i @ \_(Ti)retf /goﬁTg W/ NUT 4 P%rﬂv;uf syr{fl.l. BE LEFT TOGETHER W/ ANCH,? S A ;
g oLss t | ko I TAP EXISTING cor EXISTING | I } ﬁ-.-———f—? f ?ﬁg TIME STORM BARS ARE REMQVED. (SEE DET. A),
i ! ) TUBE TO ACCEFT GLASS [ ) | . £
Jx i o n 18 THREADS,/NCH i R 1 S (FOR REMOVABLE STORM BAR) TABLE4
= I ! i : MACHINE SCREW 1 | i 'l“*”“‘“f-\@ or @ SECTION & - 3 e TABLE 3 T AT L7 MAX,
25 I \ ; | {TYP) ” | e ; SCALE @ N.TS. e RV DESIGN  § MAX. S STORM BAR
as :i : g \\l I ! |I ‘ : ! RETE W/ - mf))(ES'lL\GiID MAX. SLAT STORM BAR ?{?\%ﬁ}mﬁ) SPAN HEICHT
EE i i Jr I ii SEP’QE}ET]?H;SUEF%ASS_‘[L b h\ i igui\i? %?QSNEESS REQ'D\ PRESSURE N SPAN HEIGHT RATING (a5, o 14.:..1’
%eﬁ 1; | : Al \}'\\\@ yl"_" ON SHEET © 0|F (R [ Ak ‘\I 0 (Fe=3000 psi Min.) \ [-—1" N BATING oot Ty o T 0.0 A :E’__%"
I | f " by , , piia o - T . oo LN
2 i ! ! | ! ’ 1>® et | \ ya - - 11 -10 5 ¥
S ' ! f i | ; . . / /! p 47 0) i o =
5‘:1 i sepARATION T0 6Lass 1LY [ ! ) u \/ /T“ /// %4 S /// 55.0 50" 11-2 69, 1L ﬁ»-
%‘g e GEE SCHEDgéEM —: T“ 'T‘“*\‘@ or(A /\ @ M) orM / Vs S yav; e S 08" =3 }3,_5"
02 o " ON SHEET 9 | Ty ) / a p . " T 0" E
& i I i 3 g | 4 / / 4 4 / s ~0 i 0.0 T ! "
2 i J‘x ‘ J'N\\f T &) e ] C ) o AL LA T i > 50 Loty
I | i Rl ! | : - sy B” 30" -
X L LA IR \O [ R———T | | j T == / 70.0 e 107=6" 30 29,
: / L) (M) o (1) i f | \ \ EDGE OF- B=g" Kl 60.0 £ 55
3 A ‘ - i ! i T\\'A@ B a4 i 0 26 @ _____ B WALL@E T L i
I AN v 1 SO - ¥ 3 — EAN -
E | C VT e (BEYOND) 1 | f f A% ke BocT T2 AeHoRG / 80.0 407 — - A e
: ” ' e ! 1 1 ' 2l ' @ 3/8 OT)OK\ggURBEOEi)- CONCRETE OR & I i . 5y-g” e 70.0 E g Yol
i ! W | I ‘ ! ! 3/8"0 POWER BOLT ANCHORS N S S— - =i ) 11-6
i | N\ | i 52 I Al ! (2) 3/ TO CONGRETE BLOCK T e S
1 TR \ [ T "3 g = A
| o d T ® 4: T ' L s N o =
Il | N ‘ =i .t b g )
’ F““‘I ' TION S1 - 31 \ or T
Il - | | R i SEC ENTRATION 4f i %g, %,
! ! T \ i S — 3 T I GCALE 1 NT3. @)a o f%%'“;;/a 0 KWK E%TTET%RANLHW&S % 25
| ! ! ! T i 57 T T e e \”‘“\\ ! I To POURED CON e ; a. a\, =
i | 1@l ; / // //c 7 s . S | | /@ /@ rowes st 'ﬂ X gA[ “{Jsﬁ‘““’i K =
i 1.000"__|l | ! ! | e - o T, 112" w1 172" % /8—\ . TO CONCRETE BRLOCK @ @‘; s Y
17 Min : | ! ! POURED CONCRETE W/ — i ‘ 1N T 4 ke ALUM. ANGLE EACH SIDE AS i | | SToRM BAR LOCATION Ag[m» 0.6, % T 3
! ' O gt ' 47 Min. THICKNESS REQ'D N N S | 1,, AA) or 4 SHOWN ON SECTaN §-8 || | | 174 374" TAPCON S 3
N e EESE Y e 3 - L, :%
i s | sl s— 2" x 8" x 1/4" x 0'=6" Aum, | I I L \\\ \ ) 8 ) Q@ =0 N
1 £ EACH SIDZ W/ (2) 3/8" |/ f ™\ I ) j_—_L ® o My S
I g hon R BOLT ANCHORS TQ CONCRETE |/ | Al | T ~“‘ o \ J 8
(I BLOCK WALL FOF Y oS ¥ T s ils } : - D e e
! o UNDER AS.D, DESIGN PRESGURE ¥ / / P ; 1 2,. T —a ; sk s
i RATING QF 35 psf. TWE| g /‘/ s NT. ALUM. ANGE
L5 DESIGN PRESSURE RATING BETWEEN N e \ go o o / - » o X
o " pa pd 80 pSf N \ POURED ——- i !, TETR ) ) ‘ f?
, S 2 & £ 3 & USE (2) r Ew : 8¢ igh Velocity Huff
/ ad SHOWN ON TABLE | SoncRem 2 o N LU P n Non High Velocity
- /// e 2 8;5{ waggNggHETgogngﬁf STS ) \ TckNESS REQD N T o AL, AnGLE FLORIDA BUILDING CODE ( 0n DRAWN BY:
" Min.—<—<) POURED COl A il  Min.) | : ; -
D CONCRETE W/ J FOR 1/4"8 TAPCON ANCHORS — 3.000 Mm/.;r' 4 DESICN F’RES‘:UF’S F:‘;T:’f gzu %P;S‘ Y. \ (f 3000 psi Min.) i /g; — ASSA/@-OMm & 60mm BERTHA ROLL 1L.G./AG
POURE "8 CALK-IN ANCHORS iy CONDITIONS 4 -3 P D CONCRETE W/ : ©2011 TILTECO, INC. .
5" Min, THICKNESS REQ'D oOR 1/4 “ MinL— BOLTS TO STORM BAR. . poUR.E'D . — — Ry
B L I m——y / POURED CONCRETE w/ onsion os wm) . CAN SHUTTER SYSTEMS ASSOG,, ING.| 1207/
FOR 3/8"a KWIK BOLT TZ ANCHORS —! 4.325" Min, = a 4" Min. THICKNESS)““ 2 chzci)%%OREsté Btk é& : g @ @ e AMERIOA i
2 ’ f'e=3000 psi Min. 0 B S & § “ 4268 WESTRO \A_ , r 209
. ’ - (2) ¢ ONCRETE BLOCK REQ'D. > ST PALM BEACH, FL. 33407
NTING; SECTION V-\ OR C NEERING COMPAN WES ST e )
CEILING & FLOOR MOU * OVABLE STORM REQ'D. - ATION: SECTION V-V(1) OPTIONAL STORM T N, ot B St 2o GARDENS, 1. 33166 Phone : (877) 989-2772 , Fox : (56 — o DRAWING No
/ FIXED OR REMOV ! UNTING INSTALL : NECTION B B s Shya 1250 AR SaRoENS, — e OEECHFTIO - -
INSTALLATIO - RS WALL M S W/CONCRETE ANCHORS BAR CO e—mail: tilteco@aal.com preyp FESCRIPT s - SHEET 53 oF 14
BARS W/CONCRETE ANCHO " W FIXED STORM BARS SCALE - NTS, EB-0006713 ! GEXCETTN 7k M
a AREMENT) LE @ NT.S. TER A TILLT Jdr. P.E.
(SE2 SEGTION "8 SCALE A%HS? YPE A A YLCRIDA Lie- 3 44167 2
. N IONS AND DETAILS g -
EOIN SR S0 W SECTION V-V
STORM BAR & HEADERS.




~2":3"(Max.)x1/8"
| Cont. Alum,

TUBE W/
1/4%ext 3/4" TAF’CO\J

1/479x3/4" TEX SCREWS

/|| ANCHORS @ 12" 0. ~© 12' 0.C. To TuBE "} | MNCHORS @ 12" 0.c. /@ 12" 0C TO TUBE
7 7 T o el A
7 s -
el S/
2 i )_, A’i R /E;, = ﬁ -
/ | - T
/ ovd I 2 N
! ; ///II/// / = \
¢ POURED ' g e ‘ o M N
S  CONCRETE [ < a  concReré / \
W | S RECUIRED | )/ / l ] g /
B s f N
3 : / // S 53 p S o
A ) / 994 v /// ’ [ LL /i e
l J / 7 ILFOR CASES S/ ////! ,//,«"/ / // / i / ( Y, P
I8 /A _A._A__i W/OUT HEADER [ /A o 2 L /I 1 W A I
] ; S\ ORTIONAL LTr—J ; T
I FASTENERS il ] | ) =
[ Iy ONLY @(Y) I ¥ fg\@ @ @
] = = e
I 2 H o
] - @@@ I o
| 3 [=3
:;“*""000" Min. | l I e @ @ ”«wt.ooo" Min, { ‘
§
| 7 ‘
I | %S I f‘s
i | ‘
! i) I 1
¥ N i \ e
I ] ir \::Q@ @ EXISTING ] k ‘
EXISTING i [ i GLASS Il i
GLASS
I | I |
! | l ’ n | — |
I SEE SHEET 9 OF I Pl i
R gEEgATION M\®Oﬁ’ I SEE SHEET § OF 14 |

BUILD~O0UT TUBE -

f
i |

: |

T WOO

e - (Worlir)

Il

I |

i |

I
|l———1.000" an.mjl-—*
[
] !

I (BEYOND)

=D

i 0@

BUILD-OUT TUBE
{BEYOND)

i

‘ 1/4"ax1 3/4" TARCON

2"x4 " Max. i /8"

ont. Alum. TUBE w/

1/ ox3/4" TEK SCREWS

— OPTIONAL

FOR CASES

1
!

FOR Min. SEPARATIOM
TO CLASS.

H-A~»—1 000" Min.

M %
(BEYOND) h | y I w (SEE CASE | & 1) \” ] _“T X—ALUMINUM ANGLE (CASE 1)
“ ’(‘J sl 3 Wg; H ‘ OR F] l . —- 7 : ) ]
! 53 ; s Lo & o © \s @a @ @ o 1o L
! [ j s ) < <= v \ \ =
. L1 //} — SN S s e ”4 /
e / 4 // S ‘ G'E ‘// S yd < '// 8“’( 12" 12
S S E S O———w—} <4 / s < // o o~——}~ 12" 12" 4" 4" 4 4 4" 4" 240E ‘?‘5‘%‘& s
v s /,,Acn" y Yy /// fo,:l,,_l 2 8 y / Gn'[ / 5 &‘EE}&
gu /AN : e H 3 . | W L2%6"x1/4" Cont, ALUMINUM TUBE 14 340 TAlgé‘o}g“ % oRs . L
a 4 : : =1 N I //_ g T J & 2"x3"(Min.)x1/4" ALUM. ANGLE @ 12" 0c. (Tyg ‘F«\EACH ‘,,) §3
v L7 3 [ = LI \ Y (CASE 11 ONLY) % &, : @@Q\ @ E
1 5 N T =< § SR A :
1 LA ~ 3\,/"71(/“’;‘.’.’;‘)g\ggoNC?\'SE‘HQ;%MQU?‘QANOGEE s - 253 (inJu1 /4" Cont. ALUM. ANGLE W/ g}f‘ :; 41010
& a3 oo A ST o ) o ELEVATION/X ===
o] (o p " - 3 I
’:OU&:D T‘iﬁg‘ﬁg&sg W/ \\/ g (3) 3/8" POWER HOLTS TO CONCRETE BLOCK f‘ﬂﬁD fﬁy,fﬁg;g W \/ / _ / BAR LOCATION, REST @ 12" 0.C. SCALE : N.TS. < ¥ KW g
(f'e=3000 psi Min.) S WALé' g.E\tAﬂ%ﬁl AT STORM BARS LOCATION (Fe=3000 psi Min.) // i Z« 2°%6"(Max.)x1/4" CONT. ALUMINUM TUBE W/ = %3 Q¥ ~ éf;’
OR CONCRETE BLOCK ./ / ] (SEl X). OR CONCRETE dLOCK /" 7 1 /4" TAPCON ANCHORS @ 12" 0.C. S M@% =)
REQUIRED. e REQUIRED, A FOR STORM BARS(E)&(F)W,/ CONCENTRATION OF B J}ﬁ« T 8 g
7 e (3) 3/8" KWK BALT TZ 70 POURED CONCRETE “, ff@ Tt R
g4 OR (5) 3/8"a POWER BOLTS TO CONCRETE BLOCK =, “O8I0N A\ L
7A@ 4 0.L. AT STORM BARS LOCATION , e
CASE | FOR STORM EAR 1) W, CONCENTRATION OF FLORIDA BUILDING CODE (Non High Velocity ‘HarmizoneFane)
(3) 3/8"% KwiK BOLT T2 10 POURED CONCRETE
OR (7) 3/8" POWER BOLTS TO CONCRETE BLOCK N o DRAWN BY:
@ 4" 0.C. AT STORM BARS LOCATION © 2011 TLTECO, INC. ASSA/40mm & 60mm BERTHA ROLL-U! L.G./AG.
™ & .
FIXED STORM BAR CONNECTION AT BUILD-QUT (SEE ELEVATION ). . y
e o ~ 12,/07/11
2 ; - E AMERICAN SHUTTER SYSTEMS ASS0C,, INC
INSTALLATIONS W/SHEET METAL SCREWS OR MACHINE SCREWS CASE It HLIEC O uc. oaTe
LE @ N.TS. TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRIVE
i , S 6355 N.w. o b S, 303, wgcmm(ma)nms,fr.s 33186 o WCEB?;) F;/;:MZ%EACF;. FL-@S?;%Q as80 11=209
NQTE: ! 3 Phone : (305)371~1530 . Fax : (305)871-1531 cne - . Fox @ 83
g, SECTONVVE) e e e BGAG
i i - o
RS, QLD 08-157 2/07/1 3 - N
Lo e oo e e ; o swee o or 16

FASTENE
J/oNLY @ (Y

NG

(BEYOND)

| @@

W/OUT HEADER

3/4"
Typ.

3747
Typ.

1/2"
Typ.

ST

1/27

4

1/2"1 1/2"x1 /8" A

STORM BAR DEPTH Alum.
ANGLE EACH SIDE

“*USE (2) 1/4"px3/4"

TEK SCREWS EA. SIDE.

SECTION 83 - 83
SCALE : N.T.S,
A 0

1 1/2"%1 1/2"x1 /8"

34"
Typ,

%

—
10
N

/" x STORM BAR DEPTH
Aum. ANGLE EACH SIDE

35&@0

“—(2) 3/8"2~16x1" S.5 MACHINE
SCREWS AT EACH ANGLE

\
\-(2) 3/8" S.S. THRU
BOLTS W/ NUT

SECTION §3 - 83

SCALE -

USE 3/8"8 KWK BOLT T2 TO
POURED COMNCRETE OR
3/8"¢ POWER BOLTS TO
CONCRETE BLOCK ———eem—y
@ 4" 0.C. AT

STORM BARS LOCATION

N.T.S.

-
idt
P

N

I

/

-OOBE or

WHEN APPLICABLE

1 1/2"x1 1/2"%1/8"x STORM
BAR DEPTH Alum, ANGLE
(SEE SECTION S3 ~ S3 AS APPLICABLE)

27" (Max.)x1/4” Cont.

¥
$'i‘“l.#;yfyjﬂ§59$g

'“‘f;y -




POURED
CONCRETE -,
W/ 8" Min.
THICKNESS

Vs

1/4% x 1 3/4" TAPCON
\ANCHORS @ 12" O. C.
N

POURED
COMNCRETE
v/ &" Min.
THICKNESS

112" x 1 1/2 !/’8"—/”/
% MULLION DEPTH Ajum, I
ANGLE (EACH SIOE) w/ '
(2) 1/2" wwik 8oLT 12 |
ANCHORS TO POURED :
CONCRETE SLAB !
(Typ. TOP & BOTIOM) |

WALL REQ'D

17478 x 1 3/4" TAPCON
A /’ANCHOES @ 12° 0. T,

T -0000-0

SECTION W-W (1), WO HEADER

SECTION W-W (2) W/HEADER

|
\
]
|
g I 7
: - Z
= 7 4 o TSk 3 3/8" x 0'-3" (6081-T6 OR B005-T5 ALLOY)
§ or @ [ ) Aum, ANGLE W/ (8) #1/4%0 x 3/4" TEK SCREWS T0
& | o HEADER & 1/2"0 WKWIK BOLT TZ ANCMORS TO POURED
2 (- AR CONCRETE WALL (6" Min, THICK)
" [ (ONLY FOR  W-W(2)) 7 AN
g 1| ee0a-®
o — (6) 1/4°8x3/4" TEK SCREWS. o
2 exstig—d | <
z aass | 111
& P I ] L= 3% 3% 3/8% 0'-3" (6061~T3 OR 6005-T5 ALLOY) ALTERNATIVE 1
= L | ’ Alum. ANGLE FOR SINGLE SPAN HEADERS WA] L i\ﬂQUNTlNG SECTION ‘f\‘j W 3
S & 3"3"x3/8"0'~6" (8061~T6 OR BOO5~TS ALLOY) . : A
4 /\/ Alum. ANGLE FOR MULTIPLE SPAM HEADERS e e (3)
2 W/ (1) 1/2° S5, THRU BOLT W/ 7/8"0.0.x3/32" THICK SCALE + 1/8" = 4
- T TO MULLIOH THRU SIDE RAIL AT SINGLE SPAN HEADERS &
E I | (2) 1/2'0 5.5, THRU BOLTS W/ 7/8°0,0.x3/32" THICK AT
E ( | NMULTIFLE SPAN READERS.
3 I | AR 2" (MAX)x1 /8" ALUM, TUBE W/ 2"x2%¢1 /8" ALUM. ANGLE
o/ OR R/4|| I /4 OR R/4 rd TO SIDE RAIL W/ (3) 1/4% » 3/4" TEK SCREWS EA. LEG
¥ oo I ’
b | POURED “f#’
OO»@— OO0 e
oR CONCRETE S
W\\L j @ W/ &" Min. e
(A - THICKNESS Aeoe
(2) 3/8"9 S.5. THRU BOLTS WALL REQ'D S
| Il 4w/ 778"0.0.x3/32° 1)‘HICK @ 1
g (Typ. TOP & BOTTOM) b
(ﬁ‘a-i- o o ,// [
&0 , i
s 0 % Y, =
VI LIS POURED yd |
. o / — CONCRETE -
| 3/ L 3/4 W e Nin. 7 I
EDGE ____ » : 5 THICKNESS s j
F APPOCRELE 8" Min. Typ. ——3" Min, Typ. = WALL REQ'D %&/ ; 1/2" | 1/>\_@@@@0'?@
s |
FLOOR/CEILING MOUNTING : iy ;
b I
T 1
- :
_,/’ i

SCALE : 1/8" =

m

3k ok NOTE:

USE @ HEADER ONLY
INSTALLATIONS, IF MULTIPLE

USE DOUBLE MULLIONS W/3" GAR IN BETWEEN THEM
SELVES FOR EACH INDIVIDUAL SPAN.

FOR SINGLE SPAN
SPANS ARE NEEDED, THEN

WALL (8" Min. THIK.)

l —FOOO®+@

=

ALTERNATIVE 2

WALL MOUNTING : SECTION W-W(3)

.
3" x 3 x 3/8" x 0'-3" (6081-T6 OR B6005-T5 ALLOY)
Alum. ANGLE W/ (8) 1/4"% x 3/4" TEK SCREWS TO HEADER
& 1/2"9 KWK BOLT TZ ANCHORS TQ POURED CONCRETE

SCALE & 1/8" = 17

POURED

CONCRETE —
\\

W/ 4" Min.
THICKNESS
WALL REQ'D

cemmen D@

7% \\«2" X 4" x 1/4" x 0'~8" Aum. ANGLE W/

(4) 1/4"0 THRU BOLT THRU HEADER & AMGLES,
AND (2) 3/8"a KWK BOLT TZ ANCHORS TO
POURED CONCRETE WALL (4" Min THICK).

USE 2" x 7" x 1/4" Alur, ANGLES FOR CASES
W/ 3" BUILD-DUT TUBE,

ALTERNATIVE 3

WALL MOUNTING : SECTION W-W(3)

©® Q@@ —

(EXTENDED PASSED OPENING) —
9" N
o 1
4 rl{ \
=0 U2 L N
8 LI ! ]
il == = -
T o

(2) 2" x 4" x 1/4" x 0'~9" Alum, ANGLE\
W/ (4) 1/4" THRU BOLT THRU MEADER
AND ANGLES & (2) 3/8"9 KWK BOLT TZ
ANCHORS TD POURED CONCRETE WALL
(4" Min. THICK) EACH ANGLE

SCALE : 1/8" = 1

Gor@n

EX ISTING——-H

GLASS "

— 2" % MULLIOM'S DEPTH x 1/8" Cont.

[ ALUMINUM ANGLE TO MULLION W/

TRACKS W/ FACE MOUNT.

|

I

f

|

|

l

| OO0@-0
[1-@0-@

| ALUMINUM TUBE W/ 2"x2"x1/8"«0"-2"

/ BEYOND , i s
T Y 2'%2'%1/470'=8" Aum—— 7| (3) 1/47x3/47 TEK SCREWS EA. LEG,
f ANGLE EA. SIDE w/ N | (TP TOP/BOTTON)
N | X (2) 3/8"@ KWIK BOLT T2 K=
T i TO POURED CONCRETE A
o WALL (4° Min. THICK)
s ) & (2) 3/8% 5.5 THRU “=Lah]
~— o BOLTS TO MULLION FOR [~ ==
R ANY LOAD COMDITION. i
e i ///
- POURED o
Lo \X? CONCRETE £
: AN W/ 4" Min. =
EREVZANN THICKNESS LT
: “1: )(:H ) : )OR(::) WALL REQ'D Qg
o ,

. NO HEADER & STORM BAR ALLOWED,
JUST SPLIT ROLL UP MULLIONS &

1" x 1" % 1/8" x CONT. ALUM ANGLE
"W/ 1 /4 8x3 /4" TEK SCREWS @ 127 0.C.

i
; L~2" % 2" x 1/4" x 0'~8" Alum. ANGLE EA. SIDE W/
N | Al {2) 3/8"% POWER BOLT ANCHORS TO CONCRETE
8 / L7 |l BLOCK WALL OR (2) 3/8"¢ KWIK BOLT TZ ANCHORS
7 | TO POURED CONCRETE WALL (4" Min. THICK) &
ot (2) 3/8" THRU BOLTS THRU MULLION AND ANGLES.
>
il
s

EXISTING WALL MAY BE POURED CONCRETE OR CONCRETE BLOCK FOR AS.D. DESIGN
PRESSURE RATING UP TO 80.0 psf W/ ¢'~CG" Max. MULLION HEIGHT AND 5'-0" May
MULLION SPACING. SHALL BE 4" Min, THICK POURED CONCRETE FOR GREATER LOADS.

ELEVATION /X2"

SCALE : 1/8" = 1"

TYPICAL HEADER CONNECTION AT ENDS:

NOTE:

INSTALLATION DETAILS SHOWN ON ALTERNATIVES 1 & 2 ARE VALID FOR STORM BAR HEIGHTS
AND SINGLE HEADER SPAN CONDITIONS FOR A.S.D. DESIGN PRESSURE RATING UP TO 120 psf.

,% ]

©@

T

3" % 3" ALUMINUM ANGLE

@O —=——"T7|

1
|
.

@ @ @ @ - @///—':Hg_uu_g\h___
ELEVATION,/X \.
SCALE 1/8" = 1"

(V) or @)—-

DO —

S
T 3" « 3" ALUMIMUM ANGLE |

—

1/2%]

B CEelONT,

)]

ELEVATION /X1,

SCALE : 1/8" = 1*

TYPICAL HEADER CONNECTION AT ENDS:

SECTION W-W

SECTION W-W

WALL MOUNTING : MULLION CONNECTION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE @ 1/8" = 1"

i §§5¢ﬂf’ﬂﬁﬁﬂy

g0f 1
gsﬁré’% B ?%Léi?

Gosca,
°® £

%% '9%»5 i ae® 8 Fo To ¢ e

S e e NSE <
& AR e s, @
ST <
N %
% y
g
-
N

e

9
S

F sg ¥
Yo ps 898

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

© 2011 TILTECO, INC.

L

IECO e,

\

Phone : (305)871-1530 . Fax :
e—mail: tilteco@aal.com
EB-0006713
WALTER A, TILUT Jr. RPE.
FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEERING COMPANY
6355 N.w. 36th. St, Ste. 305, VIRGINIA GARDENS, 1. 33166
(305)871~1531

ASSA/40mm & 80mm BERTHA ROLL-UP| URaw v
AMERICAN SHUTTER SYSTEMS ASS0C., INC. 12{} %é "
4268 WESTROADS DRIVE
WEST PALM BEACH, Fl. 33407
Phone : (877) 989~2772 . Fax : (561) 209-8380 11209
FEY. 40 DESCRIFTICN OATE | REV. Ne DESCRIPTION SATE DRAWING No
1 OLD DA—157 2/07/1 3 SHEET 7 oF 14

o

4




=1 N v 2" x 4" WOOD STUDS
N \ | AN REQUIRED @ CORNER
[ BESEEN \ 1 (TYPICAL)
= —1/4" & LAG 4 LR \ \ »
2 SCREW @ Fa. STUD S Y \ \ e G G i e —
- / {V ETRA/TI20 \ Min. THREADED VA e . \ \ \ VTN O N S SN N N N SO0 N N O N NN
; . M PN \ - / /
. AR 1IN - e  M—
. \ AN / ] \ /
:.‘ A\ / / // \\ /
~. . \ S ‘\
N K < | \/ \ / \\
\ . =L b 000" in— A o ] A
5 : re T L—m  — A
/ -.{\ / \ ~ ’/// //J__/ \
s < il / \ / N / /’/”'/ \\ e
- 7 N .'... 1 - \ // = \ _/,/‘”/ / \
P [~ OPTIONAL X = = T e MW;
woop R R Y RS
HEADER [ . .
REQUIRED el .
| “—1/4" 6 LAG SCREWS @ 6" 0. C. o
| 172" Min. THREADED 2" x 47 STUDS
] 1/4" PENETRATION TO EXISTING
Max T WOOD STUD.
l h
[ : A (e ‘ —" 3
»/l =l L SE N A //
T [
EXISTING WINDOW ! WA MOUNT ) ,
l SCALE : 3/B" = 1" /
SEPARATION TO GLASS! Ty — ~ eyl
SEE SCHEDULE —ler \ \ “’: ——
S o sl o " "
ON SHEET 9 OF 14 : \ \ Sy 4" WoOD STUDS REQURED ://f/// 2" x 4" WOOD STUDS
LA N 2 @ CORNER (TYPICAL) ?ﬁ%ﬁ’éﬁ? @ CORNER
V 1 T
~ % e \ 1 :.'= ~——2" % 2" x 125" Cont. i
) N - - > A1 / Alum. ANGLE (6063-~T6 ALLOY) 45////’/;"'?//
| a
| \\ / ;: —~ 1/4" & LAG SCREWS \ "2
| T @ 4 1/2" o.c. W/ 1 1/2" Min. THREADED ]
| T\ \ g \ PENETRATION TO EXISTING wOOD STUD. ] ‘ 1/4" @ LAG SCREWS @ 8" 0. C.
O B ¥ ” W/ 1 1/2" Min. THREADED
! i = o 1/40x3/4" TeK : PENETRATION TO EXISTING
! y / L? B SCREWS @ 6" o.c. . ST = : WOOD STUD.
| NPANE | -
O " Ity
| — / \ 4 i o e, "
| . & « -EQ-HEQ . —3"3"x1/8" OR A'xd’x1/8"
| \-® @@ L e 3 " ZoNT. BuLD-ouT TUBE,
| ®=® — =
or Cute Tt K . e " 1/4"gx3/4" TEK §§§§i§7§¢ﬁi§§y
I - : et 1[\,4/‘4r '} - GR SCREWS @ 6" o.c."T 55 ;i,
2'x&" CONT. | ox © O o {xg},
SILL PLATE ey | s ;
RS T @=® = s
N '\’ﬁm z i-g— 1" x 2" x .125" Cont. > \ N 3
A~ ST = Alum. ANGLE (8063-T6 ALLQY) y s 3
y : L @®oe@ & i No 44167 ¢ 3
y 1! ©O g Sl
g 5 1é4"mLAG e @ o @) 2 W\; N
. \ SCREWS @ 12" 0.C. Caen e Ly ;
11 /\“ . ﬁ/ mmws/om OF PLATE SCALE : 3/8" = | 32 \;f g&}% 2:’/// R
o ) 1 1/2" Min, THREADED o . b '
4 \ 5 PENETRATION. fe Lok SLOROY
| o Y Soogsasc®
p NOTES: E - Y v %
/ ;X 4 llES : J 1. INPST%L)%EOONS ARE ONLY VALID FOR BUILDINGS WITH A.S.D. DESIGN PRESSURE RATING UILD—0UT ﬁ; :{}ggz (A
TN pst. . W gm ISy
e WOQD STUD 2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2 W/ SCALE : 3/8" =1
@ 24" 0. C. MAX SPECIFIC DENSITY OF 0.55 OR EQUAL.
REQUIRED 3. MINIMUM THREADED PENETRATION OF LAG SCREWS INTQ WOOD MEMBER TO 8F 1 1/2". J FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
UNTING | NSTALLATE@N ®2011 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL~UP ng‘?/’,”Ag‘“

\ AMERICAN SHUTTER SYSTEMS ASSOC,, INC. ’%%é”

liLiEC

' BB,
TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRIVE
6355 N.W. 36th. St Ste. 305, VIRGINIA GARDENS, Fl. 33166 WEST PALM BEACH, fL. 33407 11-209
Phone : (305)871-1530 . Fax : (305)871~1831 Phone : (877) 999~2772 . Fox : (581) 209~8380
e mﬂggﬂg;%%?;:;lcom REV. HU DESCRIPTION GATE REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILUT Jr. P.E. 1ot oL 08-157  i2/07/1 3 "
FLORIDA Lic. # 44167 2 % g SHEET 8 OF 14




SLAT PERFORMANCE CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (psf) AND

CORRESPONDI

NG MAXIMUM SL

T SPAN'"L"

FORTYPE 1 & 2SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

=t —
e =]
—r—]
L Bt
E = T
o
=t
MULTIPLE SPAN

ae

MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
BE MEASURED FROM BACK OF SLAT TO GLASS.

SLAT TYPE @

M/j\gvDUAM MAXIMUM SEPABATION To|  MAXIMUM SEPARATION 10
DESIGN SLAT SPAN GLASS SLAT SPAN GLASS
PRESSURE SINGLE & SINGLE & SINGLE & SINGLE &
RATING MULTIPLE MULTIPLE MULTIPLE MULTIPLE
(p.s.f.) UNIT * UNIT * UNIT = UNIT *
25.0 7'-8" 1" 5'-2" 1"
30.0 7 4" 1" 5-1" 1"

35,0 7'-q" 1" 410" 1"
40.0 6'-8" 1 4'~-g" 1"
45.0 6'-8" 1" 4'-3" 1"
50.0 §'-3" 1" 4'-g" 1"
55.0 §'~1" 1 3'-10" 1
0.0 6'-0" 1 3-8 1"
65.0 - 5'-10" 1" 3'-g" 1"
70.0 5'-g’ 1" 3'-5" 1
75.0 5'-7" 1 3'-3" 1"
80.0 5'g” 1" 3-2" 1"
85.0 55" 1" 3- 1"
90.0 5'—g" 1" 3'-0" 1"
95.0 5'-3" 1 2~ 1
100.0 52" 1" 2'=10" 1"
105.0 5" 1 - -
110.0 5'-g" 1" - -
115.0 4'e11” 1" - -
120.0 4'~10" 1" - - ]
125.0 4'=g" 1" - -
130.0 4! 1" - —
1350 4'—g" 1" - -
140.0 4'-5" 1" - -
145,0 4'—q" 1" - -
150.0 PA 1 - -
155.0 4’3" 1" - -
1860.0 4'-2" 1" - -
165.0 4'—1" 1" - -
170.0 4'-Q" 1" - ~
175.0 4’0" 1" - -
180.0 3-11" 1" - =
185.0 3-10" 1" - -
190.0 3~-10" 1" - -
195.0 3 -g” 1" - -

§4? 888+ @‘#éﬁgagw

sw wWliTyp ™
%\‘”@ R

@ peu®ERay

0.
"’a‘!ﬁ?‘ifg!ﬁ

iraggs95989

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zore)
ASSA/40mm & 60mm BERTHA ROLL-UP D‘fé\:“;‘A.gT’

© 2011 TILTECO, INC.

\ AMERICAMN SHUTTER SYSTEMS ASSOC,, INC, 12@% "

:~ g @ figde.

4288 WESTROADS DRIVE

TILLIT TESTING & ENGINEERING COMPANY
6355 NW. 36th. St, Ste. JO5, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871~1830 . Fax : (305)871-~1331

WEST PALM BEACH, FL. 33407

Pnone : (877} 9992772

. Fax

: (581) 209-8380

a-mail: tilteco@aal.com

DESCRIPTION

DATE

REV, No

DESCRIPTION

CATE

11-209

DRAWING No

EB-0006719
WALTER A. TILLIT Jdr. PE. !

OLD 08-157

12,/67/1

3

FLORIDA Lic. # 44157 P

4

SHEET 9 OF 14




STORM BAR LOADING CHART
MAXIMUM A.S.D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L"

FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

G N
A Ze
& N
S X
& TR
§h XN R
5 of W= d
% <L ¢ G
ﬁ% ENED s sl O
ﬂww.y gai@@
% &
=
)
N @%w
"
m‘é%\gﬁ%m% st!
0
“ e ol
= A R R R R R R AR R N A RN A RN AN RN R
™ It~ ] 1D
w0
Guuﬂlnnnuﬂwuunnnn‘lnﬁu
A v N N R R R R R A A N I N R N
. Ak I~ o o (v e lia i [0 o i v [
W)
n s = PO PR U -~ oI 2 N S U U PO S O
R A =X C Rl R e B ol Bl B ol o Bl B el ol bl = o I Rl R O Y _
TS AR A A AR AR R R A N R S U L A N RN
FN I3 B Eol E N N P o EE N b2 2o - o0 PN 17 TS T To T YC TN UL c P L S R N B RO R B
Ouﬂ
S 14
m.4m¢ i A A
- ofe|t o= lvlalniT ol N (Slo kol v =lo T2 o~ oo b ks ke
SR R LU LR RO T L e o ELELE L LY e T
S.3.9:888;777.666@.6.6555555.551544444'4»4.4«4.4
*
TITIT o (% [T (o o oo [ [ [T o I (oo [ v e [ 12 o Fio (i oo i 15 B i o o s
3.0-_,~-_W,_,,.m,_;-_-_-_._,_,_,_.A,._-N.m-_,_,_-m;,“'_-.-_-h-,
/\\.1999'&088877776555665555»3555555555
a7
m.6.5.5w_*m__*m_.mmam___—m/*ﬁ_ﬂmmgmwh
w0
=1 PN P P P PO NN % PR PO U I U PO
408620‘8643101
S PR N AR N R R RN AR R RN N PP E P e bl
1665~3,b54444.4443
fiel
GMO"A!:M/W.\V"W&TW\UNua'Hﬂauwbﬂ:ﬂrnM"OMIMUHGJ""""""
= - e jee) ™ | Rl B OO |~ WO O WD
wﬂmm«,_,_ﬁ_o,_-_-“,_-_,_,_.m,m-_‘_;‘_-_-_-_ L b
=— & 0. ,566555554444444443333,33,3§$
el N
Sﬂjmnu
- = O.9.4'0,8,4,.1H,8.6.4,2.1H1.8,7.6wu»43m¢.1,ﬁuﬂHmm,g,gn_u,ﬁﬂa_u
wsz-_-u,_-_-“-u-“-M-_-___,_ LI T T T T A T 0 TR VY AN O e AR A AR IR I
23 ERE RS R R R E R Pl Fel P T RTINS (o it R PR (PR (AN RS P N N S O o L Co W o P
*V
S A R R =1 N R RN R =R Y RN R Y CO T 1 O FS L 49 N A N O
P AR RN LT _,_.ﬂ..__n__.,;;:-_ (1 AL UL I L O U O A
V2 Bl Rl B Y B P B e SR PR T T R Bt ol i B P S ) A L S Y ) U g L g
oi— |z %
— i~
1
mmws_wmw*w.w_m_“m____M~__m_______
<o
NDNMU.ununﬁUnnnunuu.lnﬁu
eldTi®ln e TRl s R TIR|T
P 1o i (i % 1 | R R e e e b e e
i
e 3,5"""nnunﬂn”nu""“nﬂnounn"""un
Avi.WO9409641.1986532101198775544.
S I = O U O L U T A O N T Al O O e A Kl B OV
WM .o:.,466655554444444.4.43$.3,33.3,3333
(=]
2Rk
Exmwf"n.!u“um.""“"uw.u""u"n""nuw,uo"u"n""""
Ew e m;,_W%mﬁ,_w,ﬁww%w.ﬂw,ﬁmww444444%4%444.4444
- 7656655555544444.4;4.4.4:4.4?:3,3.33,3.3.33.3
*3
= £ 3 = 2 =
0~u7”5u3d0Hu9“7"4u2uomusueyw:?nonmmmuwow/“eﬂ:ﬂusyfﬂﬂuouﬂ
B U T e e T TS [ L T T A A U A A A PO AP Al
<77776656665555555.4%;4?#.4&.#..4.4u+u4»4.4f
= & 4
2452201
TUNOE 2 8@ oluwiolw
e MR E R R R A P = T S A A A A P A P R P Y P g e
= a o THT T e e e e -
= .

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

Phone

~
g+ . - 9 k=3
_WG - ON N
< § o N e
AN ™~ = =z o
= 0 o< [ —
<3 ~a =
ML o ,|Wn 5
= - O Ly
&
o €3 w
o | F g
ﬁ o=
] B
3 ¢
9 iz
€ | Bk
L] [
< |2 8l
|l ¢32
w | E Eng
= T ol
43} b~ Qn g2
o simd
£ 5 25
S|P Ghs s
&S r 2O= julx
bl 14 = 31g
”H 8L g LS
o a.
<3 o] 4TW1
.
r Us (3
e lw =TIE]
£ 1= 2 502
18 P
S | u E]
175 = g
2= g
> 8
re
\Mﬁ1
o Wﬂm
2 uil
Qg
m GMWm E..7
g . |Z2339 %@
pill ko IEREPEs
Y82 G ™t
E ol
i : T QU
&= mmmmn_u .
s @%&aﬁhﬂnnm
Q R | as e
oAy EE
@ sl |2 A8 T B
mmy jf oS0
el S
e
ES
..PL.N.
/mﬁ
=3

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

%




STORM BAR LOADING CHART
MAXIMUM A.S D. DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN 'L"

FOR A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/REGULAR COMCRETE ANCHORS

. e
DESIGN :

PRESSURE * STORM BAR SPACING % STORM BAR SPACING

RATING

(p.s.f.) € 3-0" | 3 T04' |4 T05 |5 7106 [6T0651¢3-0"|37T04)47105 |5 7108 |67065

40 OR LESY 11'=10" 1 11'=0" 10'-5" 9'-11" 9'~9” 14'—1" 13'=1" 12’ 5" 11'-10"{ 11'-7
45 11'-8" 10'~8" 10'=1" §'~8” 9'-4" 13'-8" 12'-9" 12'-0" 11'~g" { 11'-3"
50 11°-2" 10'=5" 9'~10" 9'-2" a'-10" 13'~4" 12'-5" 11'-9" 1"'-2" {1 11'-0"
55 10'=-11" | 10'~2" 97" 8'~g" - 13'-0" 12'-1" 11'-5" 10°-11" -
80 10'-8" §'~11" g'-2" 8'-5" - 12'-9" 110" 11'=2" 10'-8" -
65 10'-6" 9'~-9" 8'-10" g'-1" - 12'-6" 1"'=7" 11'=0" 10'~6" -
70 10 —4" 9'-8" 8'-6" 7'-g" - 12'-3" 11'-5" 10'-9" 10'-4" -
75 10'=1" g'-2" 8'-3" 7'~g" - 12'-0" 11'-2" 10'-7" 10'~1" -
80 9'-11" 811" 7'~11" AN - 10" 110" 10'~5" 9'~11" -
85 9'-10" 3-7" 7'~g" 70" - 11'-8" 10°~10"} 10'-3" g'-10" -
a0 9'-g" 8'-5" 7'-6" 6'~10" - 1'-6" | 10'-8" | 10'- g'-g" -
95 9'~5" 8'~2" 7' g 6'~8" - 114" 10'-7" 1o’~o" 9'~5" -
100 9'-2" 711" 71" 6'—6" - 1-2" 10'-5" 910" 9'-2" -
105 8'~11" 7 g” 6'—11" 6 —4" - 11°—1 10'—4" 9'~g" 8'—11" —
110 8'~g" 7'-7" 6'~g" -~ ~ -1 102" §'-7" - -
115 8'-7" 7'-5" 6’8" - - 10'=10"| 101" g —4" - -
120 8'-5" 73" 85" — - 10'-8" 911" 9’2" - —
195 8'~3" 7't &'—aq" — - 10'=7" 9'~10" 9'-0" - —
130 8'-1" 7'~0" 6’3" - - 10'-6" 9'~g" 8'-10" - -
135 7-11" | &-10" | &-1" - - 10-5" | 9'-8" 8'-a" - -
140 7'~g" 6'-8" §'~0" - - 10'=4" 9'-5" 8'~a" - -
145 7'=7" 8'~7" 511" - - 10’-2" 9'-4" 8’ —d" - -
150 7’8" 6'~8" 5'—10" — - 10-1" | g'-2" g'-2" - -
155 7' -4" 8'-5" 5'-g" - - 10'-0" 8'-0" 81" - -
160 7'-3" 6'-3" 57" - - 911" 8-11" 711" - -
165 7'~2" 6'-2" 56" - - 9'-11" 8'~g9" 7'~10" - -
170 7'-0" 61" - - - 9'-10" 8'-7" - - —
175 8'~11" 6'—-0" - —- - 9'~-9" 8'-8" — — _
180 6'~10" 5'-11" - - ~ 9'-8" 8'-4" _ _ _
185 6'~g" 5'-10" - - — 9'-6" 8'-3" - - -
180 6'-8" 5-g" - - - g'~5" g'~-2" - - -
105 8'~7" 5'-B" - - - 9'-3" 8'~0" - ~ -

* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

PP

o %%K§§§?;

LBOEVO g,
0
s

;&%ﬁ%

”"ﬂ*fffﬂwﬂ’ i g st

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

@ 2011 TILTECO, INC.

/S TLIECO e,

TILLIT TESTING & ENGINEERING COMPANY
8355 Nv. 36th. St Ste. 305, VIRGINA GARDENS, P, 33163
Phona : (305)B71~1530 . Fax : (305)871~1531

e—rail: tllteco@aoi.com
EB-0006719

WALTER A. TILUT Jr. P.E.

FLORIDA Lic. # 44187

ASSA/40mm & 60mrm BERTHA ROLL-UP| ORAW &
AMERICAN SHUTTER SYSTEMS ASSOC,, INC.|  12/07/11
4268 WESTROADS DRIVE
WEST PALM BEACH, FL. 33407 11-=209
Phone : (877) 999~2772 . Fax : (561) 209-8380
RBY, o DESCRIETIOH DATE REV. Mo DESCRIPTION DATE DRAWING No
1 OLD 08-157 12/07/1 3 SHEET 11 OF 14

4




HEADER LOADING CHART MAXIMUM A.S.D. DESIGN PRESSURE RATING (psf) AND

CORRESPONDING MAXIMUM SPAN "L"FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

‘%. .
B z\yﬁ Em“%s'mﬁ s,

o g‘%?% TiLg ;s IS

¥¢aﬁf¥9w3
o

0%
;‘

prs |

u

No. 44167

7
0
K |
ﬁ% !
Y ot
o, | .
v o
y Eawpay T -
[
. wh
g L o
e s
Coipapsrits?

'
A
i
.
e
Vi
W \ﬁy‘z

ST L

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

AAiwLi | TYPE 1 HEADER TYPE 2 HEADER () TYPE 3 HEADER (T) TYPE 4 HEADER TYPE 5 HEADER (J3)
pESiGH B2 X3 x 1/8 2" x 4" x 1/8 2" x 4" x 1/4" 2" x 68" x 178" 2" % 6" x 1/4
PRESSURE ~
lle\;{.[); STORM BAR HEIGHT STORM BAR HEIGHT STORM HAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
‘ € 5=0" | 5 T0 7 < 5'-0" 5 708 | 8 1010 < 6-0" | 6 708 | 87010 |10 70 12 | 12 TO 14 < 6'-0" 8 TO 10° | 10°TO 12' § 12' 70 14" § ¢ &~0" 6 T0 8 a'T0 10" | 10" TO 12' | 12 70 14
0.0 OR uzsé 9'—11" 8'—4" 12'-2" g'-8" 8 -g" 14'~10" 12'-10 1H-6" 10'-8" 9'-g" 15'—-1" 11'-8" 10'—8" g'—11" 19'—4" 17'—3" 16'—~5" 141" 13 -q"
45.0 g'~4" 71" 11'-8" g'=1" g'~2" 14'-0" 12'~-2" 10'-10" 9'—11" 9'-2" 14'-3" 11'~0" 10" 1" 9’4" 18'-g" 16'-3" 14'~6" 13'-3" 12'-3"
50.0 8 ~10" 7'-g" 10'~11" g'-8” 7-g" 13'—4" 196" 10" 4" g'-5" g'-8" 13" -6" i0'~8" 9'-7" 8'-10" 17'-g" 15'~5" 13’ -g" 12'=7" 11'-8"
33.0 g'-5" 72" 10'~5" g'-3" 7' ~g" 12'-8" 1'-0" 9'-10" 9'—g" 8'—4" 12'-11" 1a'~0" 9'—1" 8'~5" 17'-0" 14'-8" 13'-2" 12'-0" 1'=—tq"
60.0 g'~1" 6'-10" 10'-0" 711" 71" 12'-2" 10'~8" g'-5" g'-7" 7'-11" 124" 9'-7" 8'-9" 81" 16'-3" 141" 12'=-7" 116" g'-g"
65.0 7'-9" 6’7" 9'-7" 77" 6'-g" 11'-8" 10'-1" g'-0" 83" 78" 1-10" 9'-2" 8’5" 7'~g" 15'-7" 13'-6" 12'=1" 110" 10'~3"
70.0 7'—5" 8’4" 9'-3" 7' 4" 6'-8" 11°-3" 9'-g" g'-g" 711" 7' —4" 115" 8'-10" 81" 7" 15'-0" 130" 11°-8" 10'-8" g'~10"
70 73 gt g 71" 6'-4" L 8'-5" 7-8" 7=1" 11'-0" g'-7" 7'-10" 73" 14'=6" 12'=7" 1-3" 1’3" 9'-g"
500 70" St g8’ 610" 6'-1" 10'-6" | 9'-1” 8'-2" 75" 611" 10'-8" 8'-3" 77" 70" 141" 12'-2" -t | g-n 92"
i 69" 59" g5 -7 511" -2 8'-10" 7=11" 7'-3" 6'-8" 10'-4" 8'-0" 74" 6'-g" 13'-8" 11'=10" 10'-7" 9'-8" 8'~11"
90.0 6'-7" §'-7" 8'-2" g'~5" 5'-g" 9'—11" g'=-7" 7'~8" 70" 8'~6" 10'-1" 7'-10" 71" §'=7" 13'-3" 11'-6" 10'-3" g'—5" 8'eg"
85.0 6'~5" 5'-5" 7-11" §'=3" 57" 9'-g" 84" 7'-6" 6-10" 6’4" 9'~10" 77" 8'—11" 6'~5" 12'-11" 112" 10'-0" g'—2" 8'-5"
100.0 6'-3" 5'-3" 7'-g" g'-1" 5'-g" 9'-5" g'-2" 7'-3" 6'-g" g§'=2" 9’7" 7'-5" 8'~q" g'-3" 127" 10'=11" g'-g" g-11" 8'-3"
1959 il 52 il 6'-0" 5'-4" 9'-2" 711t 7'=1" 6'-6" 6'-0" g'-4" 7'-3" 6'=7" 6'-1" 12'-3" 10'-8" 9'~6" g'-8" 8'-g"
__1 10,0 ' 0" 5-1" 74" 5'-10" 5'-2" 9'-0" 7'-9" B'—-11" &' —4" 5'-10" g'-1" 7'-1" 8'~5" §'-0" 12'-0" 10'~5" g'-3" g'-a" 7'-10"
115.0 5'-10" 41" 7'-2" 58" 5-1" 8'-g" 7'=7" 6'-9" 6'-2" 5'-g" g'-11" 8'-11" 6'—a" 5'~10" 1'~g" 10'-2" 9'-1" g'~a" 7'-8"
1209 59" =10 il -7 5-0" a-7 7'-8" 6'-8" 6'=1" 5'~7" 8'-9" 6'-9" 6'-2" 5 -g" 1'~8" g'-11" g'-11" Y 7"
1250 5'-7" #-9" 611" | 56" 4=11" §'-5" 7'-3" B'~6" 511" 5'-6" g'-7" 67" 61" 5'~7" 11'-3" 9'-9" g'-9" 7'=11" 7'-4"
130.0 58" 4'-g" 8'-g" 5'ed 4'—g" 8'-3" 7'-2" §'—5" 510" 55" g'~5" 6'~6" 511" 56" 11'-0" g'-7" g-7" 7'—10" 73"
120 5 -5 #-7" 6-8" 53" '-g" g'-1" 7'=0" g'~3" 5'-g" 54" 8'-3" 6'=4" 510" 5'-5" 10'-10" 9’5" g'-5" 7'-8" 7'-1"
407 $8809888,, o,

©2011 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL-UP| G 7
g& g @ @ f8e \\ AMERICAN SHUTTER SYSTEMS ASSOC., | 12{%4 t
5 €.
TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRIVE
8355 NW. J6th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33168 WEST PALM BEACH, FL. 33407 11-=209
Phone : (305)871-1530 . Fax : (305)871~1531 Phone : (877) 999-2772 . Fox : (561) 209-8380 <
e“jcx)EaglotggoS??glcom REV. NY 0'?;02!;\':0:7 2jA';E/ RE‘/.1 Ho DESCRIPTION DRAWING No
WALTER A. TILLIT Jr. P.E. t - 12/67/1
FLORIDA Lic. 4 #4167 : : SHEET 12 OF 14




HEADER LOADING CHART MAXIMUM A 8.D. DESIGN PRESSURE RATING (psf) AND

CORRESPONDING MAXIMUM SPAN "L" FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM §  TYPE 1 HEADER @ TYPE 2 HEADER . TYPE 3 HEADER @ TYPE 4 HEADER @ TYPE 5 HEADER @
AS.D. 2" % 3" x 1/8" 2" x 4" x 1/8" 2" x 4" x 1/4" 2" % 8" x 1/8" 2" % 8" x 1/4"
DESIGN
PRESSURE
RATING STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
{p.s.f)
& 5-0" 5 710 7' g 5-0" 5 10 8 8 1 10 g 60" § TO 8 g TOo 10" | 10 70 12" | 12° To 14 g 6'~0" 6 TO 8 g8 TO 10° 1 10' TO 12' § 12 10 14 g 6'~Q" 6 TO 8 8 TO 10" | 10° TO 12° 1 12° T0 14
1400 5‘_311 4""6” 6"‘6" 5"‘"2" 4)‘“7" 7._11" 6)_1 1’1 6""‘2” 50‘_7» 51_.2" 8""1" 70“01» 6"‘3" 5:_99: 51_311 10""8“ g,__z.,, 8""3” 7,_6,. 6""1 1,,
145%.0 5lapv 4’_5“ 6'—5" 55 q” UL 71_1011 6'-9" 61" 58" 51" 7 i 6'—10" 6 —n" 57" 5._201 10;_‘5“ 9’1" 8"‘1” PO 610"
150.0 [ 4'..4_“ 6‘_4" 50" 4-"‘6" 7'_g" &'-g" 511" 5»__5" 50" 74’_.“3" 8'—g" &'—1" 55" 5;_1-4 10'=3" 811" 7,_1 i P 6!.—9"
155.0 B 4’3" 6'—2" PO 45" 7'=7" 5'—6" 510" 54t 411" 78" 58" RIL 5'_5" 50" 10'=1" g -9" 710" P 57"
160.0 4le11” 4" 61" 410" 4 g 75" 8'—5" 5" 53" 4'—10" o7 56" 510" 5 g 411" 911" 87" 7 -g" 7" 6'-5"
185.0 410" 4’1" & -0" 49" 43" 7' 4" 64" 5_g® §'n” 4'—10" 75" 6'~5" 5-g" 53" 410" 5'=10" 85" 77 PURTE 5'tt
170.0 4'-10" 41" 511" 4’8" 4'-2" 73" §'-3" 57" 5'-1" 4'-g" 7 4" 8'~4" 5'-g" 5'-2" 410" g'-g" 8'—4" 7'-8" 8'~10" 6’4"
175.0 4'—g" 4'.g" 5-10" 47" 4ton® Ay 6 —2" 5 _g" 5teg” 48" 73" §'—3" 57" 5lq” 4'g” 9'-g" 8 -3 P & -g” g3
180.0 4'-8" 311" 5'~9" 47" 41" 7'-q" 61" 5-5" 411" 4'-7" 71" 6'-2" 5'-6" 5'-0" 4'-g" 9’-5" g'-1" 73" 6'-8" 6'-2"
185.0 4 7" 311" 58" 46" 4b~_0n &' =11" 8'—-0" 54" PUREE 4 —5" 2.'0" PO 55" 5'q" 47" §'-z" 8'~0" 7 _g" &' -g" 61"
190‘0 4,“6" 31‘-10\1 5v~7" 4‘1’5" ‘1'.“0“ 6!_1011 51"11n 5,__3" 41‘_101» 4!__61# 6,"1 _]n Bj_ou 5'_4,, 4)~1_[n 4"“‘6” 9,_2,, ,7.__11., _7,_-1,, 6"‘5" 6““0"
195.0 4'—g" 3 -q" 5 —g" 4'a’ 31" 5 ~g” 5-10" 5'w3” 4" 45" & ~10" 511" 5o q” 4'—10" 4'—g" g’ 0" 7'~10" 90" g g 511"
G595PP85 500,
géf ey,
WS TILLIT

.

&° SRl I Y
CENSE T %

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

@201 TILTECO, INC. ASSA/40mm & 60mm BERTHA ROLL-UP DLR’SW/NA o
I
g & g @ @ - \ AMERICAN SHUTTER SYSTEMS ASSOC., INC. ‘%%é”
€.
TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DRIVE
§355 N.W. 36th. St Ste. 305, VIRGINIA GARDENS, Fl. 33168 WEST PALM BEACH, FL. 33407 11=209
Phone (305)87_1»«!530 . Fax : (308)871-1531 Phene : (877) 999-2772 . Fax : (561) 208-8380
e—mctfgeigg%%??gi.com [T ;E[)sc::n]o; 1 ?QIE/, REY. Mo OSSCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. PE. ! .0 08— 2/07 4
FLORIDA Lic, 4 44157 p p SHEET 13 OF 14




MULLION LOADING CHART MAXIMUM A.8.D. DESIGN PRESSURE RATING (psf) AND CORRESPONDING
MAXIMUM SPAN "L"(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (FL.\.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM TYPE 1 MULLION @ TYPE 2 MULLION @) TYPE 3 MULLION @
PRESSURE
RATING MULLION SPACING MULLION SPACING MULLION SPACING
et g 4-0"j4" TO 5[5 10816 TO8|¢4-0" 4TOB 5 T0O61{6 7108 g 4-0"]4T08{5T706[6 7108 8 10 10410 To 12
400 OR Lesg 9'-0" | &4 | 7'-10" | 8'-2" [11°-9" | 10'=11"[10'=3" [ 109" | 16'=4" | 15'~2" | 14'=3" | 14'=10" |13 ~10" 130"
45.0 8'-8" | &-0" | 77" | 7-10" [11'=4" | 106" |g'=11" {10—4" [q5'-8" J14=7" |13-8" L1a—ga [13-3" |12-6"
50.0 84" 1 7'~9" | 7'-3" | 77" 40117 102" 197" L10'=0" [ q5'-2" | 14=1" [ 13'=3" 113 —10" L12'~10" L 12'—1”
85.0 g-1" 1 7-8" | 7=1" 74" P07 | 9—10" | 9'=3" | 98" li4-8" | 13-y |12-10" [13'=4" |12'=5" | 11'_g"
60.0 7-10" | 73" | 8- | 72" -3 | 97" 190" [9'-s" [ 1a-3" | 133" [12-5" L13—0" [12=1" | 11-a"
85.0 78" 171" 1 e'-8" | 7-0" 100" 94" L g'-g" | 92" [i3-11t12-11" [12e2t Liamgt |-t | gt
700§ 7-5" fe-117 | 8'-6" | 6'-10" 1 9'~g" | 9'—1" L gog” | a-11" (13-7" [12=7" [11'=10"|12'=4" | 11'=5" | 10'~g"
75.0 7'-3" § 8'-9" | 6'~4" | §'-8" §9'-7" |8-10" | §-4" 8'-8" } 13'-3" 1 12'=3" |17 L12'=1" | 112" 10'—-6"
80.0 72" f eyt | a3t | 86" g'—q” | 88" | 8'-2" | 8-6" [ 12°-11" 120" | 114" [11=10" | 10'=11"] 10'~4"
850 | 7'-0" | 6'-6" | §'~1" | 6'=4" §9'-2" | @-p" | g-0" | 84" [12-8" | 11'=9" | 11=1" | 11=" | 10—g" | 10'=1"
90.0 B'-10" | 84" | 8'=0" | §'-3" §9'-0" | 8'=4" | 7=10"| &'-2" J12=5" | 11=7 Lia=117] 114" [10-6" | 9'—11"
950 | &'-9" 6'-3" 1 5'-10"| 6'-2" §8'-10" | 8'-2" | 77-9" | &~1" §12-3" | 11'=4"| 10°-8" | 11'=2"| 10'=4" | g'—g"
1000 | 6'-7" | 8-2" 5-9" | 6-0" 4 g'-8" | 8'-1" | 77" | T=11"Fqp.0" | 11=2" | 10'~6" | 10'=11"| 102" | g'—7
1050 | 8'-6" | 61" | 5'-7" | 5~ 86" | 7'=11"| 76" | 7'~9" [11'=10"] 11'=0" | 10'~4"| 10'=9" - - NOTES :  REFER TO ELEVATIONS ON SHEET 1A OF 14
110.0 6'~5" | 5~11" 5-5"1 510"} §-5" | 7-10"{ 7'=4" 78" 8 11'-8" L1g'~10" | 100-2" | 10'-7" — - 1—. FOR_MULLIONS INSTALLED W/0 STORM BARS
115.0 6'~4" | 5'-10" 5.a” | 58" | g3 7'-8" § 73" 7 -7" 11'=6" | 10'~g" | 10'-0" | 10'=5" - —_ A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
1200 | &'-3" 5~9" | 5=3"| 5=7" § g_p" | 77" | 72" | 75" | 11'~4"] 10'=8"| 9'~11"] 10'—4" - - 2-. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS
125.0 g'-2" 5-7" 1 5'=1" ] B'=5" § 8'-1" | 78" | 70" | 7'=4" | 11'-2" | 10'=4"] g'~9" | 10'-2" - — A} MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED
1300 § 8'—1" 5'-8" | 5'=0" 4 84" | 7-11"] 75" | e~11"] 7-3" | 11'-0" | 10'=3" | g'-g" | 10'-0" — - B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
135.0 8'-0" 5'-5" | 4'-11"} 8’3"} 710" 7-3 L e'=10” | 7-2" Bio=11"] 101" g'-6" | g9'—11" - -
140.0 | 5'-11"f 53" | 40" 52" | -9 | 72" [e-g" | 71" | 10-9" | 10-0" | g'-5" | 9—10"] ~— -
145.0 5'-10"{ 5'-2"§ 49" | 5-1" | 78" | 7-1* |g-g | 7_o" 10'-7" 1 9'-10" | ¢'-3" | 9'-8" - -
150.0 5'-9" | 5'—1" | 4'=g" | 50" ¥ 7-7" | 7-0" {&-7" |e-11"§ 10~6" | 9'=0" | g'=2" | g'—7" - -
155.0 5-7" 5'-0" | 47" P 41" E 7" 1 70" 67" ] 610" | 105" ggr | oot | g'—g" - -
160.0 56" | 4'—11"] 4'=8" | 4-10" 1 75" | 6'-11"] g'=6" | 6'=9" § 10~3" | 9'~7" | 90" | g'-4” - -
165.0 5'-5" 4'=10" 4'=5" | 4'-9" § 7'-4" | 6'-10" §'-5" | &'-8" §10-2" | 9'=5" | §'=10" | 9'-3" - -
170.0 5'~4" 4'=10" 4'-5" | 4'-8" 7'-3" | 8'-9" | §'~4" | g'~8" 10'=1" | g'~4" | §-9" q'p" - -
175.0 5-3" 4'-g" LR B VA B AR-L AL G A I 100" § g'~3" | g7 1 g'—1" —~ —
1800 | 57=3" | 4'-g" | 4'-3" | 48" § 70" | &=y | 8=3" | &-6" | 9~11" | g~ | 86" | o'—g — -
1850 § 52"} 47t | 42" L 46" 7" eyt | 62" | 6'-5" [ 9-10" | 9'q” | g-4” | 8'-11"]| — -
190.0 } 5'=1" | 4-g" | 4-2" | 4-5" | 70" | 66" | 6~1" | 6'=5" | 9=0" | g'_o" | &'-3 8'-9" - -
195.0 | 5'-0" | 4'-g" | 4'=1" ] 44" | 6'=11"] 6'=5" | 6'=1" | 6'~4" | g'_g" | g-11"]| g-2" | &

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2011 TILTECO, e, ASSA/40rmm & 60mm BERTHA ROLL-UP ngw;‘A o
gi g Lot o) . \ AMERICAN SHUTTER SYBTEMS ASSOC,, INC. ‘2{}%5 "
: | €. =
TILLIT TESTING & ENGINEERING COMPANY #2688 WESTROADS DRIVE
6355 NA. 36th, St Ste. 305, VIR GARDENS, I, 33186 WEST PALM BEACH, FL. 33407 11-209
Phone : (305)871~1530 . Fax : (305)871~1531 Phone : (877) 989-2772 . Fax : {561} 209-838Q
— ik @
e-mail: titeco@aal.com REV, NO PDESQRIPTION DATE REY. Mo CESCRIPTION DATE DRAWING No

EB-0006719

WALTER A, TILLIT Jr. P.E. ! QL 08-157 2/07/1 2
FLORIDA Lic. # 44187 4 SHEET 14 OF 14

5




